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A. General :
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This Question Paper is based on AIIMS pattern
contains 100 (30 Physics, 30 Chemistry, 30 Biology
& 10 General Knowledge) questions. Actual AIIMS
Paper will have 200 (60 Physics, 60 Chemistry, 60
Biology & 20 General Knowledge) questions which
will have to be solved in 3:30 Hous.

The question paper CODE is printed on the right
hand top corner on this sheet of this booklet.
Rough work is to be done on the space provided for
this purpose in the Test Booklet only. This space is
given at the bottom of each page.

Blank paper, clipboard, log tables, slide rules,
calculators, cellular phones, pagers and electronic
gadgets in any form are not allowed.

The answer sheet, a machine-gradable Objective
Response Sheet (ORS), is provided separately.
Do not Tamper / mutilate the ORS or this booklet.
Do not break the seals of the question-paper booklet
before instructed to do so by the invigilators.

Write your Name, Roll No. and Sign in the space
provide on the back page of this booklet.

. Filling the bottom-half of the ORS :

The ORS has CODE printed on its lower and upper
Parts.

Make sure the CODE on the ORS is the same as
that on this booklet. If the Codes do not match,
ask for a change of the Booklet.

Write your Roll No., Name and Name of centre and
sig with pen in appropriate boxes. Do not write
these anywhere else.

Darken the appropriate bubbles below your
registration number with Blue/Black ball pen.

C. Question paper format and Marking scheme :

13.

14.

The question paper consists of 4 Parts (Part-A
(Physics), PART-B (Chemistry), PART-C (Biology)
& Part-D (General Knowledge)).

Foreach question, you will be awarded 1 marks if
you darken the bubble corresponding to the correct
answer and zero marks if no bubble is darkened.
In case of bubbling of incorrect answer, minus one
third (-1/3) mark will be awarded.
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PART-A PART-A
SECTION - | Grs- |
Straight Objective Type RN a@ﬁg YR

This section contains 50 multiple choice
guestions. Each question has 4 choices
(a), (b), (c) and (d) out of which ONLY ONE
is correct.

9 WUs H 50 9g—fa®wed Ued B UAS
93 & 4 fasweu (a), (b), (e) @21 (d) g,
598 9 % e |98 2

What is the fractional error in g calculated from
T = 2n,/¢/g ? Given fractional errorin T and / are

+3 and + 2 respectively ?
(@) 5
(c)8

(b) 1
(d)4

The dimensional formula of ¢ b*(c = stefan’s
constant and b = wein’s constant) is

(a) [M°LoT] (b) [MILAT]

(©) (M'L?*TY (d) [MIL°T]

The coordinates of a moving particle at anytime t
are given x =4tand y = 2t2. The speed of the particle
is

(a) 4t +212

(©) 4y1-t?

(b)4(1+1)

(d) 44/1+t2

If a,and a, are twonon collinear unit vectors and

if |3, + 8, | = J/3than (3,— a,) . (23,+ &,) is

T=2n/t/g 9 9P AR H H=rwa & a1 sl
Ife T (H s Jfe 3T 2 76 2|

@5 (b) 1

()8 (d)4
o bt(c= B fradie qem b= 49 Fudis) o
foia 9= 2—
(a) (M°L°T] (b) [MAL*T]

(©) [ML=T] (d) [MLeT]

P I t R U IfAHT BT B SR x = 4t q2g
y =209 &4 I1d g | SO B A B

(a) 4t +2t2

(©) 4y1-t?

(b) 4(1+t)

(d) 441+ 12

A 2,7 a, &1 R §HIS AR § TAT A |

|a;+ a,|= 3T (a;,-8,) . (24,+ a,)

- Y

3 3
(@)2 (b) 5 (@2 0) 5
(c) = (d)1 1
2 © % d) 1
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Aball is dropped from the roof of a tower of height
h. The total distance covered by it in the last second
of its motion is equal to the distance covered by it

in first three seconds. The value of h in meter is

(g=10 m/s?)
(@) 125 (b) 200
(c) 100 (d) 80

Aballis released from the top of a tower of height h

meters. It takes T second to reach the ground. What

T
is the position of the ball at Py second
h
(a) > meters from the ground
3h
(b) 7 meters from the ground
h
(© 7 meters from the ground

7h
(d) —= meters from the ground
9

In unifrom circular motion

(a) Velocity remains constant

(b) Acceleration remains constant
(c) speed remains constant

(d) none of above

A particle moves in circle of radius 50 cm at two
revolutions per second. The acceleration of the
particle innmeter per second? is

@nr (b) 82

©)4r (d) 27

TEh g h $as & R & B 9 RS o ®
A & ifvaw AFve H 39D gRT 0T [l W 59D
ERT 92 9 JHvs § 97 & T8 0 P dRER T |

h &1 719 #ex | & (=10 m/s?)
(a) 125
() 100

(b) 200
(d)80

T I THeR & ¥R @ Y ¥ B! ol ® | T8

. T
aaa‘@ugwﬁTw»uswwqé‘cﬁ%lWE

Jpve R T & RAfT w7 BFN7?

(a) da ¥ %tﬁ?\f
(b) T A %hﬂna
(c) T | %ﬁﬂe-\f

(d) T & %hfﬂa

U FHH aarg i 7
(a) 1 fora <& 2 |

(b) @RI frId T B |
(c) Tre fraa <& B |
(d) SR § I BIg &I

50 cm 3501 & U@ aTdR 9 H UH HI, | Ui
gfe Yepve @) e A T Bl & | d9 DY DI RO

Hrex ufa dave? # 2§ -
(a) m? (b) 8n2
(c) 4n? (d) 2n®

- Y
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10.

On a smooth plane surface (figure) two block A
and B are accelerated up by applying a force 30
N onAand 5 N on B as shown in figure If mass of

B is same as that of A, the force on B is

30N 5N
—» A B
| |
()30 N (b) 15N
(c)17.5N (d)5N

Two pulley arrangements of figure given are identical.
The mass of the rope is negligible. In fig (a), the
mass m is lifted by attaching a mass 3m to the
other end of the rope. In fig (b), m is lifted up by
pulling the other end of the rope with a constant
downward force F = 3mg. The acceleration of min
the two cases are respectively

9. fUe WHdd Tdg W Rerd sifee ATR 30 N &1 g

TqT sdip B IR 5N T gl i< UR soifb ATl B
HIR P 3R ART BT & | AT ATAT B BT GeHA

T ® a1 <ifd B R 9 o—

30N 5N
— A B
| ]
()30 N (b) 15 N
(c)17.5N (d)5N

10. REATIER 1 Yhga foRAl @rawern & 78 3 | I &1
TeME g & | fF (a) 7 sHIE m @ =il &
TAY RN WR Uh 3191 G 3m ACHIDBR HUR ST
ST 24 (b) H SeME m Bl RN & TR AR W
U6 90 g F = 3mg (A1 @1 31R) T HR 0
I3 ST 2 | S Rerftdl | geme m 1 @R

- Y

PHI: T—
> |
o
(a)
(a)
E i F=3mg \/ F=3mg
(b) (b)
(@39, 9 (b) g/2, 29 (@)39.9 (b) 9/2, 29
(c) 9/3, 29 (d) g, 9/3 (c) 913, 29 (d)g,0/3
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11.

12.

A motor drives a body along a straight line with a
constant force. The power P developed by the motor
must vary with distance s according to

P
(@)
s
P
(b)
s
P
(©)
s
P
(d)
s

A 3 kg ball strikes a heavy rigid wall with a speed of
10m/s at an angle of 30°. It gets reflected with the
same speed and angle as shown here. If the ball is
in contact with the wall for 0.20s, what is the average

force exerted on the ball by the wall ?

30°

30°

11.

12.

T HIeR 0T 961 ¥ AR W1 & I U a5
BI RN 2| HieX gR1 Rafig afda P &1 g0 &
AT 7 9% & IR IRad 2 § |

P
@)
s
P
(b)
s
P
(c)
s
P
(d)
s

U% 3 kg GTAM BT g 10m/s AT & A1 T AR
Tc IR ¥ 30° B BT UR THIA © | g I AT
I gRrafd B § den fSaR & H1e 991 7 BIvf
gl yeRfa foan 2 | 3t 3ig SR & |1 0.20s
I Th D H | 8 a1 SR §RT I W STRIfud
3iId g1 1 BRI ?

30°

30°

(@) 130N (b) Zero (a) 150N (b) T
(c) 150 /3N (d) 300 N (c) 150 /3N (d) 300 N
=P Resonance PAGE 54




13.

14.

A disc is rolling (without slipping) on a horizontal
surface.C is its centre and Q and P are two points
equidistant from C. Let VP,Vq and V_be the

magnitude of velocities of points P, Q and C

respectively, then

(@ V,>V. >V,

(b) Vo<V >V,

1
(©) Vo=V, V.= EVP
(d) Vo<V <V,

The moment of inertia of a thin square plate ABCD
of unifrom thikness about given axis passing through

will satisfy the condition.

13.

14.

T el Afe wdg R e fhaer desh 1y )
& B C 3P & & T QIR P g B &1 fag
C¥ SRR A W & | /1 V,,,V, TV, 52l fig

P,Qdm C& a7 & URHAT B, a9

(@) V, >V, >V,

(b) V, < Vo>V,
(©) Vg=V, Vo= 2 Ve

(DV, <V <V,

T FH ST B! dTHR Tdell ©wic ABCD &1 &3
T el & A1el STscd el & T Rl a1 e
HT?

- Y

4
4 1 \A B/1
‘\A 7/ \\ /
\ /] \, //
AN S AN /
\, 7 \ d
\, 7 \, 7
\ /7 \, 7
\\ // \\//
o S
\l/ 3 // \\
7N\ // \,
VEEIRN Z AN
// \\ // \\
7/ AN v \,
// \\ ] 7 \,
v \, N\,
/D N\ D Ch 2
2
(a)|1¢|2 (a)llilz
(o) 1, %1, (0) 1,#1,
©4=1, =1,=1, ©1=1, =1,=1,
(d)yL=1,=1,#1, @ 1=1,= =1,
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15.

16.

17.

Suppose, the acceleration due to gravity at the
Earth’s surface is 10ms=2and at the surface of
unknown planet (similar to earth) is also 10m/s?.
A 60 kg passenger goes from the Earth to the
unknown planet in a spaceship moving with a
constant velocity. Neglect all other objects in the
sky. Which part of figure best represents the weight
(net gravitational force) of the passenger as a

function of time ?

Weight
600N A
B
C
\/ t time
D
@A (b)B
©cC (dD

Two positive charge particles g, and g, (9, > q,) and
masses m, and m, (m,<m.,) are released from rest
from a finite distance. They start under their mutual
electrostatic repulsion.

(a) acceleration of m, is more than that of m.,.

(b) acceleration of m, is more than that of m,.

(c) centre of mass of system will remain at rest in
all the reference frame

(d) total energy of system does not remain constant.

Water rises to-a height of 5 cm in capillary tube
and mercury falls to a depth of 2 cm in the same
capillary. tube. If the density of mercury is 13.6
and the angle of contact for mercury is 120°, the
approximate ratio of surface tensions of water and
mercury is (approximate)

15. A THcd @ BRG] B Fg W @RVl 10ms-

16.

17.

28, AT T UE (Ul & |qHF) B Aag IR I8
10 ms28 | U% 60 kg STAT™ &1 AT vdl 4 <fSTd
g q% o 97 | i saRer A JeSiral 2
IrIRer # Rerd o= awy @1 Reifal &1 g |1+ |
T P DT AR KT & AR (TROTHI JRocaehIyof

el) B! I & Held © 99 |

IS WY A YT BRAT B
Weight
600N A
C
\/ t, time
D
(@) A (b) B
(cC (d)D

&1 g BT g, T q, (9,< q,) U9 S| m, Rl
m,(m,<m,) 8, &1 [¥=d @ A faxrmrawen A i
ST 2 | 9 IReR ReR Jegd ufieyor & yvra 7 i
HRAT R I 2 |

(8) m, BT ©ROT m, & ROT A 3P 2 |
(b) m, BT RO m, @& RVT 3P 2 |

(c) F@Ta &1 gE $s 9l UBR & ey a3 #
ReR 2 |
(d) Far &) gt SHeft fraa T8 | 2 |

FITA H T 5cm B SaTS db dodl & | 9AT 361
Pl H URT 2 cm TERTS b - AR g | afe aR
BT g-cd 13.6 TAT IR & {7 ¥ P17 120° 8

I TAT IR & TS TG BT AT ST &

- Y

(2)1:0.15 (b)1:3 (@) 1:0.15 (b)1:3
(©1:11 d15:1 ©1:11 (d)15:1
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18.

19.

20.

21.

Magnus effect is based on.
(a) Torricelli’'s theorem

(b) bernoulli’'s theorem

(c) law of gravitation

(d) conservation of linear momentum.

An open and closed organ pipe have the same
length. The ratio of fundamental mode of frequency
of vibration of two pipes is.
@1l:2
(c)3:2

(©)2:1
d)2:3

A child swinging on a swing in Standing position,
sits down, then the time period of the swing will
(a) increase

(b) decreases

(c)remains same

(d) increases of the child is long and decrease if

the child is short

If ice at latmospheric pressure is heated from —40°
C to 35°C water by supplying heat at constant
rate. The graph of temperature vs time will be.

@) (b)y T

© T

18. I UWTg e &—

(a) SR UHY
(b) el v

(c) Tearepyvr bl e
(d) YR AT BT FRETOT

. UP ol qA 95 A1 uTgy (A1g &™) BT oT=g

FAM 8 | AT AfrdT 3§ 7ot 8T & F¥a~ smafa &1

SERIR
@1:2 (b)y2:1
()3:2 (d)2:3

. U% ged1 WSl (standing position ) §g gl H [l

Il §U S/, 96 Sl 8, T9 ol P Sfaxidlel
Gl

(a) 97 &

(byFrem

(c) fae &

(d) IfS gz o1 & o 97 IO IfS §5d VIl § o
e

. IR 9% 31 1 atm <19 TR U9 IR I IHT IR

P gIRT —40°C ¥ 35°C I T foban I 8 | araem=

Vs IHI UTH BRT—

A

L

@) (b) T

\

©T T

v

- Y
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22.

23.

24.

25.

26.

When two tuning forks (fork 1 and fork 2) are
sounded simultaneously, 6 beats per second are
heard. Now, some tape is attached on the prong of
the fork 2. When the tuning forks are sounded
again, 8 beats per second are heard. If the
frequency of fork 1 is 200 Hz, then what was the
original frequency of fork 2 ?
(a) 202 Hz

(c) 204 Hz

(b) 200 Hz
(d)194 Hz

A sound absorber attenuates the sound level by 10
dB. The intensity decreases by a factor of

(a) 100 (b) 1000

(c)10000 (d)10

If a dipole of dipole moment p is placed in a uniform

electric field E , then potential energy of it is given
by.

(@)u=PeE (b)u=—PeE

()u=|PxE| (dyu=—|PxE|

Which of the following is incorrect statement ?
(a) Electric field is always conservative

(b) Electric field due to a varying magneitc field is
non-conservative

(c) Electric field due to stationary charge is
conservative

(d) none of above

The four capacitors, each of 10u F are connected
as shown in Fig. The dc voltmeter reads 100 V. The

charge on each plate of capacitor is.

(@)+2x10°C
@© +1x102C

(b) £+1x10°C
d) £ 2x102C

22.

23.

24,

25.

26.

9 & WRA U W g S §, Al 6 e gfd
HPHUE JAE o © | 3d WRF-2 Bl Yol R HB_Y
feroeT <1 S B | 59 WRA U 991 1. © 8
g yfc Febvs 1 SNl & | Al aiRal-1 Bl sirafer 200

Hz 8, 99 @R3-2 ®1 a1 Arafd Fr o 2
(b) 200 Hz
(d)194 Hz

(a) 202 Hz
(c) 204 Hz

Ud &qf TNy eaf ¥ax 10 dB | &H $HR <l 2 |
STl T W T
(a) 100

(c)10000

(b) 1000
(d)10

I} p faga smayl @1 ve feya wed fayd & E
H IE S|l g, A1 89 W HRRA g Mgrl &

SIGIG:

(@) U= PeE (b) u=—PeE
(c)u=|PxE| (du=—|PxE|
o T BUHl H W DI AT A A 2 |

(a) faega &= e el g 2

(b) aRad T &85 & FRU U fAgd &5
el & |

(c) foRT Smaer & BRYT I faera e Avef ¥ |
(d) T & PIE e

IR IR 599 & g% @1 a1iRkar 10u F 8, &7

TR et T B |

dc @reedIex 100 V &1 UIgdid Yedl & AITRA &l
T I TR 3MIY &—

A7)

W
L=t e
B e BN

(@) +2x 102 C
(€) +1x102C

(b) £1x103C
d) £ 2x102C

- Y
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27.

28.

29.

30.

A network of four capacitor of capacity equal to
C,=C,C, =2C,C,,=3Cand C,=4C are conducted

to a battery as shown in the figure. The ratio of the

27

charge on C, and charge given by battery is.

[
1
O

(a) 417
(c)7/4

(b) 3/25
(d) 22/3

Two wires of same metal have the length is ratio
1 : 3 but their cross section area in the ratio 3:1.
They are joined in series. The resistance of the
thicker wire is 10Q. The total resistance of the
combination is.
(@) 512 Q

(c) 100 ©

(b) 40/3 Q
(d) 223 Q

A constant voltage is applied between the two ends
of uniform metallic wire. Some heat is developedin

it. The heat developed will be same.

(a) both the length and radius of wire are halved
(b)length is quadrupled and radius is doubled
(c) the radius of wire of doubled

(d) the length of the wireiis doubled.

In the circuit shown in figure, the 5Q resistance
develops 20.00 calls due to the current flowing
through it. The heat developed in complete network

28.

29.

30.

. gIRkdr €, =C, C,=2C, C,,=3C T2l C,=4C & dR
JeTRAT aTet URUY &1 FRIATER 351 3 Sirer 191 2|
C,UR AT a1 981 & gRI & T aqrder 4

C,
=C, C,/
ﬁ4
A
—| Y,
(a)4lr7 (b) 3/25
(c)7/4 (d)22/3

FAT G1g & &7 Q1 ARI B =g H g 1:3 B
TR SAP IIRY BT Bl F U 3:18 | 3
SofgpH H SITST TAT § | JUeTehd A AR Bl GieRIe
1008 | AT Bl gl YfaRle &

(@) 5/2 Q (b) 40/3 Q
(c) 100 (d) 22/13Q

ARY gIfcad IR & Q1 RIRT & 78 e (9 dleco
IR fFan ST B | e S 39 I Bl 2 |
IO~ S |AE B8R Afe—

(a) TR @ =18 AT Frar QM1 BT emem dR faan
ST |

(b) TR ! TS TR AT 721 5501 1 BT IF[AT IR
fen sy |

() TR BT a1 &I AT B A1 S |

(d) TR @ =T BT SR IR (&A1 A1Q |

AT QU g gRuer § 50 & UfcRig H gR7 yar2d
8 9 98 20.00 cal/s ST SO &Il & | eyl
gRuer § ST~ ST (calls ) BT :

- Y

(in cal/s).s
6AgA—2A AAAAA GQ QQ

l ZQ VVVV VVVV l l 2Q _MM_IVW\/V_ l
MWW Q R —A—] >
A c D B A C 50 D B

YVVY Amv

(2)23.8 (b)40.9 (a) 23.8 (b) 40.9
(c)11.9 (d)7.1 (c)11.9 (d)7.1
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31. A rectangular loop (axb) carries a current i. A

unifrom magnetic filed B =B, i exists in space.Then

which of the statment is wrong.

» X

(a) torque on the loop is iabB, sind
(b) torque on the loop is in negative y- direction
(c) if allowed to move the loop turn so as to increase 6

(d) if allowed to move the loop turn so as to decrease 6

32. Equal current i flows in two segments of a circular
loop in the directions shown in figure. Radius of the
loop is a. Mangetic field at the centre of the loop'is

(a)zero

2n—0 i
m)(4%—J%§

-0 i
(m(nn ]%%

0 \uol
(d) (ng

31. U% IUATHR URMEE U U FAM DY &5

B=B, | ¥ @1 & T@ =1 & | I FAT Terd B

(a) 99 W & el i@abB, Sind |

(b) T U I IO FOINHD Y 3feT B T 2 |
(c) A& 39 U & Waa wU ¥ Brs faa g a1

I8 39 UPR Jo 5 {6 3o 0 98 91g
(d) I 39 <@ B W ©U | B a1 9y @ I8

9 UHR G R4 b o1 0 °e Sy

32. 91 QU & a1 9d Wosl § ¥ gRT F H &
fe=n & agaR yaifed € | Ife qu &1 g a g
U D D W FHEHII &3 DT A 8N —

Resonance
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33. According to Curie’s law magnetic susceptibility
is related with absolute temperature T as
@ x,=T (b) o< 1/T?
(©) e UT d) z,oc T

34. The magnetic field lines due to a bar magnetic are

correctly shown in

N N
@) (b)

S S

N N
(© (d)

S S

35. Figrepresents an area A= 1m? situated in a uniform

magnetic field

o8]
YT Y Y
N
vV VYV Y

B = 2.0 weber/m?and making an angle of 30° with
respect to'magnetic field. The value of the magnetic
flux through the area would be equal to

(a) 2.0 weber (b) /3 weber

(c) 4/3/2weber (d) 0.5 weber

33. ®N Fom & JgER gHESIw gafa (magnetic
susceptibility) 7RH Aa T ¥ 971 yHR F9fRT & —

(b) x,,0c 1/T?

(d) T

@x,xT
(©) x,,oc 1T

34, B FEEG b HRU B g NI137 BT ¥ yaeH
et & B

N N
(@) (b)

S S

N N
(© (d)

S S

35. 9HwY gEa &3 d Re@ o aawa A=1m?
yefRid o=ar @

/D
/ L]
/ L]
/ /30
[ X7

VL 4 wL VL Jv
vV VVYVY

DI &3 B = 2.0 weber/m? 8 T JHHII &5 &
12t 30° BT BV I 8 | &bl A IR Fraby

YT BT A B
(a) 2.0 weber

(c) 4/3/2weber

(b) +/3 weber

(d) 0.5 weber

Resonance
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36.

37.

38.

Aconducting rod AB of length | moves with constnat
speed v parallel to X-axis in a uniform magnetic
field of strength B, pointing in the positive Z-direction.

The potential difference between Aand B would be

Y
®B® ® ®
ol ® ®
® vV ©
ol ® ®
@r® ©® ®
: >
(@Vv,-V,=Bvl
(b) V,—V,=-BvI
€)V,-V,=0

(d)V, -V, =BvI2

Series RLC circuit at resonance known as

(a) Rejector circuit
(b) Acceptor circuit
(c) Rejector if resonance frequency is high

(d) Acceptor circuit if resonance frequency is low.

Aninductance L (2H) having a resistance R(4Q)) is
connected to an alternating source of angular
frequency (10 rad/s)The Quality factor Q of
inductance is
() 80
(€5

(b) 20
(d)8

36.

37.

38.

( AHTS B T ATaidh B qHRT O &8 H X-

38 & FAHRR FEd =@ VA e 2 1 gEad
&3 Z 38 & 3gfew & 99 AU B R H&
fa9ar=R 8-

Y
®B® ® ®
ol e® ®
® vV ®©
® ® ®
@A® ©® ®
s .
@)V, =V =BVl
(b)V, =V, =-Bvl

©V,-V,=0
(d) V, -V, =BvI/2

argTE @1 Rerfy o= 2ot RLC ulRuer et i 2
(a) 3r®rd uRuer (Rejector ciruit)

(b) UTET URYe (Acceptor circuit)

(c) TS AT SMTafcy sverard 31fdd 81 ol SRATHII
afRyer I

(d) afe rgT<Y amafa &\ &1 a1 urel gRuer 8rm

Th WReba L (2H) Raar gfiRig R (4Q) B, I
g S ST & Rrd®! By safd o B |

UREd T faRIan [orid Q B —
(2) 80 (b) 20
(€5 (d)8

- Y
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39. Radioactive element decays to form a stable nuclie, 39. YfEaafey ac U ) A1f¥e #§ wurdfRd a8+
then decayed nuclie (N) verses time (t) graph will @ forg afyd 2rar 2, o afia e o (N) v/

b
© STIY ® T dh BN

N 4

@ @

—

(b)

®) \

NP D

N
N

(c)

©)

t
t
N
N

(d)

(d)

t
t
40. A nuclear reaction is given by 40. U AMWDHI SrfAfhar <1 Tl 2 |

zX*— XA+energy, represents XA XA+ Holl yefdid &g 2 |
(a) fission (a) fague
(b) y-decay (b) -1
(c) o- qecay (©) o- &
(d) fusion .

(d) Hera=

41. Which represents NOR gate ? 41. P4 form NOR gR Uefid dvar 8—

(a)$—' @ :ﬁ—‘
(b) ._:>—' ) .':3—'

(c)% © %
(d) o >—< So—s @ '_D—DO—

. Resonance
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42. The real time variation of input signals Aand B are 42. 93 9d A 91 B &1 ar<fdd 999 gRdaaH
as shown below. If the inputs are fed into AND gate, weffa fbar 731 &1 IR AND ER @ ERT §d @1
then select the output signal from the following. A f N N N

B B

A.—: Ao |
Y f——eY
B e—— B e——

(a) @)

02 46 8 1 02 46 8

v [ v [
(b) ‘ (b) ‘

| |
an 1 »
02 46 8"t 02 46 8 "
A A
(C)Y | (©) Y |
02 46 8 ) 02 46 8 "
A A
@)y | @ |
> t(s) > {(s)
02 46 8 02 46 8

. Resonance
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43.

44,

45,

46.

47.

The focal length of a concave mirror are f, and f_
for violet and red light respectively .Then
@f,>f,

(b) f, =1,

(c) f,<f,

(d) any of the three is possible depending on the

value of the average refractive index p

Wavelength of light used in an optical instrument
are %, = 1000A and i, = 9000A ,then ratio of their

respective resolving powers (corresponding to A, and

A,)is
(8)16:25 (b)9:1
(c)4:5 (d)5:4
In YDSE experiment if ratio of maximum and
minimum intensity is 4 :1 then fringe visibility would
be

2 o5
@ g (b 3

3 5
© 3 @
In Young’s experiment the distance between two

slits is d and the distance between the screen and
. . .1
the slits is D. The number of fringes in 2 m.on the

screen, formed by monochromatic light of
wavelength A, will be

d d
@ 9pn ®) 57on
d d
© o0 @ o

10 signals each band limited to 4 kHz are to be
transmitted by frequency-division multiplexer. If AM-
SSB modulation guard band of 2 kHz is used then
the'bandwidth of multiplexed signal is

(a) 101 kHz (b) 99kHz

(c) 84 kHz (d) 58 kHz

43.

44,

45,

46.

47,

SN TAT AT T B YBI B oY Jrader gUur adt
BIh¥ X B f, qoMl {8, 9

(@f,>f,

(b) f, =1,

() f,<f.

(d) N1 3 A BIE N TWa & T ST ATHID B HIH
TR AR Brar 2 |

A, =1000A T2I1 1, = 9000A U YHTNY IUHVT H

TR THIR B a8, I9 I T fane
ekt ¥ STOTd BINT | (&, AT A, e ) :

(a) 16: 25 (b)9:1
(c)4:5 (d)5:4

YDSE Wi # &S <ifddad den <gAa4 daar &
319UTd 4:1 8 79 bl srfewarar gri—

2 5
@ ¢ (b) 3

3 5
© ¢ (d) >

A S g H Q1 RIRET & Hew A d den u va By

ﬁnwaﬁD%lxa?ﬂ%%ﬁ$qmﬂﬁWﬁ%m

¥ go W g+ fholl &1 dw=r el |
d _da
@ 9p5 ®) 27p%
d d
© 2on @ o

4 kHz 99 A1 T@ & IS 10 FHdl Bl Ifafa
fAUTSTh HedIiaR (multiplexer) @ §RT AT ST § |
& 2 kHz BT AM-SSB T dvs Higer ugad fhar
STl ® A1 Aeeleiads (multiplexed) §&d @) U8

EISEEEEI
(a) 101 kHz (b) 99kHz
(c) 84 kHz (d) 58 kHz

- Y
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48.

49.

50.

For 50% modulation (AM), the useful part of the
total power radiated is

1
(a) Py of the total power
1
(b) 3 of the total power
1
(c) 7 of the equal total power
1
(d) 9 of the total power

For the circuit shown in figure the ammeter

and voltmeter reading would be

AAAAA

(a) 2A and 4V
(b) 4 Aand 4V
(c) 2Aand 2V
(d) 4A and 2V

The freezing point on athermometer is marked as
—20 ° and the boiling point as 130°.A temperature
of human body (34°C) on this thermometer will be
read as

(a)31°

(b) 51°

(c) 20°

(d) None of these

48.

49,

50.

50% Hise™ (AM) & oy et wfdd &1 ST 91
fawfRa g 2 |

(a) B wfdd &1 %ﬂm

(b)q@amﬁaaﬂ%w

(c)@?ﬁﬁam%'ﬂm

(d) e wIfdd &1 %ﬂm

o T gRuyar & forv epfiex @ dlee Hiex @1

ISATH B —

AAAAA

(a) 2A AT 4V
(b) 4 AT 4V
(c) 2A =T 2V

(d) 4A T 2V

oEiley R o a5 (freezing point) —20° Tl
FgUIe fa=g 130° frfed & | #1a IRR &1 argH
39 UHHIeY TR Y&l STg —

(a) 31°

(b)51°

(c) 20°

(d) ST A PIg =T

- Y
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SECTION - 1l
Reasoning Type
This section contains 10 reasoning type
guestions. Each question has 4 choices
(a), (b), (c) and (d), out of which ONLY
ONE is correct.

gus- ||

BRUT PR

39 WIS ¥ 10 BRI YHIR & U39 3 U D
% & 4 fd®wey (a), (b), (c),aA1(d) &, =4
I U5 te 98 2 |

51.

52.

The following questions consist of two
statements one labelled ASSERTION (A)
and the another labelled REASON (R).
Select the correct answers to these
guestions from the codes given below :
(a) Both Aand R are true and R is the correct
explanation of A.

(b) Both Aand R are true but R is not correct
explanation of A

(c) Ais true but R is false

(d) Aand R are false

Assertion : For a prism refracting angle 60° and

refractive index /2 , minimum deviation is 30°
. . A
Reason : At minimum deviation, r, =r, = E =30°

@ (0) © @

Assertion :Radiusof curvature of a convex mirror
is 20 cm. If a real object is placed at 10 cm from
pole of the mirror, image is formed at infinity.

Reason :'When object placed at focus, its image

is formed at infinity.

@) () © @)

51.

52.

= ool 4 A U § Q@ g §, U B
(A) 91 €891 HRY (R) Fa fad [ [Ade &
IAMYR TR FE ST P U |

(@) A 9 R GFI 9 & G RA &I Tal WEIHR0
gl

(b) A" R SFl ¥ T fbg R, A &1 92
FEC[PROT TE & |

() A ¥ 2 fhg R 39 2 |

(d) A @ R I 3T B |

HAYF : Uh U @ foIy ergads ®Ior 60°  qe

UGIID \fo T4 g fd=e $ror 30° 8 |

1 2

RO AaH g™ W, ro=r :%:30°
@) (b) (© (d)

HUA : I U DI bl 35T 20em B | AR TH
¥ Il YU B g F 10 cm B g W I ST
2, a1 uffew 3Fd W a7 |

PRI : G I W BIbA W ! ST 8, A1 uffee
3 IR G

@) (b) © @

- Y
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53.

54.

55.

Assertion : If the angle between the two plane
mirror is 60° and the object is asymmetrically
placed between the two mirrors, then 5 images of

the object will be formed.

//7/////////////////////////////

Reason : For given system of mirror the total number

of image formed due to successive reflection is

ith 60° 360° ] dingl 360°
either — = or — =1 accordingly as — = is
odd even respectively.

@) (b) (© ()

Assertion : Acharge qis placed at the centre of a
metallic shell as shown in figure.Electric field at
point P on the shell due to charge q is zero.

Reason : Net electric field in a conductor under

electrostatic conditions is zero.

@ (b) © )

Assertion : If the distance between parallel plates
of a capacitor is halved and dielectric constant is
made.3 times, then the capacitance becomes 6
times

Reason : Capacitance of the capacitor does not
depend upon the nature of the material of the plates
of the capacitor.

@ (0) © @)

53. [ : IfT T A IUIT B H BT BV 60° B
JoIT a%g <1 UV & Hey AT Y A W T 7
9 a%g & 5 ufafer g |

/Ao

M

~360°
G
¢ qdr g & fore Frafid (sArTD) wiadE @

@ HA: A 9 99 B B R Ry

HolHY a1 Uifawl &1 Fol |1 a1 al 36900
360°

o ~1erm |
@ (b) © (d)

54, @[ : FIATIAR T 377d Bl g1fcad BN & s
R X1 T B | Melld HIel &
fIg P OR M9 q & HRU fAgd &3 79 2
PR TTh S F<) ReR dgd RAfT & s=ia
gfRoTHT faefd &3 3= B

@) (b) © (d)
55. @2 : AT FEIRS B FHRR Il & 7L DI g3 Bl

37T bR fe Y d qRTdEdie A9 T AR e

WY 9 ged gTRaT 6 A1 &1 Sl 2 |

PRV : FETRT BT GIRAT FERT B <iel & yaref &

g&fd W AR T2 dalt

@) (b) © (d)

- Y
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56.

57.

58.

59.

60.

Assertion : Voltmeter is much better than a
potentiometer for measuring emf of cell.
Reason : Potentiometer draws no current while

measuring emf of a cell.

@) () © (d)

Assertion: We can measure the potential barrier
of a PN junction by putting a sensitive voltmeter
across its terminals.

Reason : The current through the PN junction is

not same in forward and reversed bias.

@ () © ©)

Assertion : Nuclear energy is due to the difference
in the sum of the masses of the component
nucleons and the nucleus.

Reason : The mass of the nucleus is more then
the sum of the masses of the component nucleons.

@ (b) (c) (d)

Assertion : Amongst alpa, beta and gamma rays,
a-particle has maximum penetrating power.
Reason : The alpha particle is heavier than beta

and gamma rays.

@ () © @)

Assertion : Chock coil is preferred over aresistor
to adjust current in an ac circuit.

Reason : Power factor for inductance is zero.

@ () © @)

56.

57.

58.

59.

60.

HUF : A & AT aTEH I BT AT A B oY

fava ATdY e & dree Wiex o1 Jfad B |

PR : A & [Igd a8D g BT AT PR FHY
favaard &1 ®I$ grT yarfad T Bl 2 |

@) (b) © (d)

HUA : p-n Y SRS & RRI & gIRe Fae=ie diee

Hrex &l Aerar 9 raxie) fawg &1 /199 fear <

HHAT B |

PRI : 3 TUT Y A 7 p-n G SAS # A
yaTfad g1 arell g1 HT | A= 81 g

@) (b) (© (d)

P : AT ol AHE & AT BN & GHAAT
& AR AT TS B G H IR B HROT BN 2 |
PRI : NS B SIHH AMTS & Fagdl Holl &
TEAE & AT 37 B B |

@ (b) (© ©)

PAA ;B TAT Y BRI H F o BV BT AT K
31ferere Bl 2 |

PR : o FHIT HA: P BT qT y fHor I ARY B
gl
@ (b) (© (d)

FUYA : TG GRY H gRT BT FaRId B & oIy
A Fuel TfoRIY A e o 31 ST B |
PR : IR & fory fd JoTid 3= B B |
@) (b) © (©)

- Y
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Atomic masses :

PART-B

[H=1,D=2,Li=7,C=12, N =14, O = 16, F = 19, Na
Al =27, Si=28,P =31, S =32 Cl =355 K=39 Ca=40, Cr =52, Mn=D55, Fe

23, Mg = 24,
56, Cu = 63.5,

Zn =65, As = 75, Br = 80, Ag = 108, | = 127, Ba = 137, Hg = 200, Pb = 207]

SECTION - |
Straight Objective Type
This section contains 50 multiple choice
guestions. Each question has 4 choices
(a), (b), (c) and (d) out of which ONLY ONE
is correct.

que- |
HY g TR
39 wWvs # 50 gg—fawedl yed 2 | UAH
g3 @ 4 fasweu (a), (b), (c) TT (d) E,
59 | % ue AEL 2

61.

62.

63.

64.

Sample X is pure whereas sample Y is impure. The
normality value will be :
@ N, > Ny
()N, = Ny

(b) Ny <N,
(d) Ny > N,

Ratio of energy of phton of frequency 500 Hz and
1000 Hzis :
@1l:1
(©)1:2

(©)2:1
d1:3

Which of the following statement is incorrect ?
(a) During N,,* formation, one electron is removed
from the bonding molecular orbital of N.

(b) During O,* formation, one electron is removed
from the antibonding molecular orbital of O,,.

(c) During O, formation, one electron is added to
the bonding molecular orbital of O,,.

(d) During CN- formation; one electron is added

to the bonding.molecular orbital of CN.

20 ¢ of SO, diffuses through a porous partition in
60 seconds. Volume of O, diffuse under similar
conditions in 30 seconds will be :

(a) 12:14 ¢ (b) 14.14 ¢
(c)18.14 ¢ (d) 28.14 ¢

61.

62.

63.

64.

X FHAT Y& 9 Y. THAT 3TYF | ATHAAT BT AT

BT -
(@) N, > N, (B) N, <N,
(©) Ny =Ny (d) N, =N,

Bicid forad! amafki wHe: 500 Hz 9 1000 Hz & &

Sl BT AU B
(@1:1 (by2:1
(©1:2 (d)1:3

/1 # 1 =T wUd e ' ?

(@) N, FFHior & SR N, 91 3Mfdae Pad A
Tdh Sodgld Sl Sl 2 |

(b) O, AT & SRM 0, & ufafaa anfogs
BEDh W Yh FIdS(T BT BT Orl 2 |

(c) O, Aol & SR O, & 98 aNfoqsd Herd H
U SAdSI Bl SST STl 2 |

(d) CN- A1 & SR™ CN & d9¢t anfoqss wersh +
UHh SAdL Bl SIreT S # |

SO, ® 20 ¢ B 60 APHUs H TP A v # 4
foaRa far Sirar g, 30 Adpvs ¥ o yRRefai
H fqaRd fby = O, o1 argas =1 8

(@) 12.14 ¢ (b) 14.14 ¢
(c) 18.14 ¢ (d) 28.14 ¢

- Y
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65.

66.

67.

68.

In the following standard I, solution is used in
titration :

(a) lodimetric titration

(b) lodometric titration

(c) () and (b)

(d) Precipitation titration

The oxidation states of Sulphur in the anions SO,2
, $,0,2~ and S,0.2 follow the order :

(@) S,04<S,0,2< SO,

(b) S,0,2 < SO.2-< S,0,.2

(c) SO < S,0,2-< S,0,2

(d) S,0,2< S,0.2 < SO,

Equilibrium constant for the reactions,

2NO +0, ==2NO, is Ke,

NO, + SO, == S0,+NO is K¢, and
280, == 2S0,+0, s Kg,

then correct reaction is :

(@) Ke, x Ke,

1

(b) K03 X Kcl X K2C2 =1

Kc

(c) Ke, x x Keg, =1

1

(d)KC3 X K2C1 X K(;2 =1

Asolutionis 0.1MCH,COOH and 0.1MCH,COONa.

Which of the following solution will change its pH

significantly?

(a) Addition of water

(b) Addition of small amount of CH,COONa with
out change involume

(c) Addition of small amount of CH,COOH with out
change in volume

(d) None will change the pH significantly.

65.

66.

67.

68.

71 § @19% |, faeiad &1 Jga99 d ggad
HIA B

() IAIfEAE S JIFATI

(b) SmATSTAfEE SrHTIH

(c) (a) T2 (b)

(d) 3raeruer AT

S0,2-,S,0,2 AT S,0,2 H AR ! SATeRINBROT
JTqRAT FT HH B

(a) S,04> < S,0,2< SO,2-

(b) S,0,2 < SO,2-< S,042

(c) SO,% < S,0,2°< S,0,2

(d) S,0,2<'S,0.% < SO,2-

arfafsranali @ forg AraTaRen ReRid
2NO+ 0, &==2NO, Ke, &
NO,+S0, ==S0,+NO Kc, & ;
T2 SO, == 2S0,+0,

Kc, & da @8 o 8 :

(a) KC3 = KC X KC2

1

(b) KCS % KC:L x K2C2 =1

(C) KC3 X Kcl X KCZ =1

(d)Kc3 X chl X KC2 =1

0.1 M CH,COOH ta¥q 0.1 M CH,COONa &I T&

faem g1 91 § & @19 39 e &1 pH aneis

9§ gE?

(@) 5T ®I fia R

(b) 3T ¥ fa=1 9Rac= & CH,COONa @1 3fed
AT B e )

(c) e H fam uRac= & CH,COOH @1 3reu
AT B e )

(d) 399 | HIg 1 pH &1 Afes w9 4 AT

geddr 2 |

- Y
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69.

70.

71.

72.

73.

74.

C(s)+0,(g) — CO,(g); AH=-94.3kcal/mol 69.
1

CO (9) + 5 0,(9) — CO, (9);

AH =—67.4 kcal/mo!

0,9 — 20 (9); AH=117.4kcal/mol

CO (g —— C(g) + O(g) ; AH=230.6 kcal/mal

Calculate AH for C (s) —— C (g) in kcal/mol.

(a) 171 (b)154

(c)117 (d)145

Zinc blende and Wurtzite type of ZnS are examples /0.

of :

(a) isomorphism (b) polymorphism

(c) isomerism (d) allotropy

Total number of monochloro products of hydrocarbon 71.

with molecular mass 58 u.

(@) 4 (b) 3

(c) 2 (d)5

The data for the reaction A+ B — Cis 72.

Exp. [Al, Bl initial rate

1 0.012 0.035 0.10

2 0.024 0.035 0.80

3 0.012 0.070 0.10

4 0.024 0.070 0.80

@r=k[BP (b) r = K[AP®

(c) r =k [A] [B]* (d).r'=K[A]* [B].

Which of the following ions is most effective in the 73.

coagulation of an arsenious sulphide solution ?

(a) K* (b) Mg**

(c) AP+ (d)yC

Resistance of 0.1 M KClI solution in a conductance 74.

cell is 300.ohm and conductivity is 0.013 Scm™".
The value of cell constantis :

(a) 3.9 cm™ (b) 39 m™!

(c)3.9m! (d) None of these

C(s)+0,(g) — CO,(9); AH=-94.3kcal/mol

CO (g) + 3 O,(g) —> CO, (9);

AH = —67.4 kcal/mo!
0,(g) — 20(g); AH =117.4 kcallmol
CO (g) — C (9) + O(g) ; AH=230.6kcal/mol

C(s) —— C(g) ® foIT kcal/mol & AH & U1

DI |
(a) 171 (b)154
(c)117 (d)145

ZnS & RSk <fs 9 geolise UHR 7 & ISTER0T &

(a) THHUYD
(c) THTIIEET

(b) IgBUDT

(d) 3T=™Udn

58 U AUMHR dTel BISSIPBIET & AMIGAR] IATQl DI

Fel [EAT ®
(a) 4 (b) 3
©) 2 (d) 5

A+ B - C aififspar & forg forst amae faw g &

TR [Al, [Bl, URM™® &)

1 0.012 0.035 0.10
2 0.024 0.035 0.80
3 0.012 0.070 0.10
4 0.024 0.070 0.80
(@) r =k [BJ? (b) r = k [AJ3

(© r=kI[A] B]* (d) r =k [A]* [B].

T IIRIN FhIgs AT & Thad H HI=™T I
GERREICIR
(a) K

(c) AP*

(b) Mg**
(d) C

IJraHT Ad ¥ 0.1 M KCI faeraa &1 gfawiy
300 ohm @7 ATefdar 0.013 Scm~1 8 | It —fadia

BT AT B
(@) 3.9 cm™! (b) 39 m™!
(c) 3.9 m™’ (d) 379 & PIg 7TE
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75.

76.

77.

78.

79.

80.

Which of the following conditions regarding a
chemical process ensures its spontaneity at all
temperature ?

(@) AH>0,AG <0
(c)AH<0,AS<0

(b) AH< 0, AS >0
(d) AH>0,AS <0

As one move down the group from top to bottom
then which one among the following will not be
observed?

(a) lonisation energy increases

(b) Electron affinity decreases

(c) Electronegativity decreases

(d) Atomic radius increases

Reaction between following pairs will produce

hydrogen except :

(a) Cu + HCI
(c) Mg + H,O (hot)

(b) Fe + H,O (9)
(d) Na + Alcohol

Select the correct order of solubility (in water) from
the following :

(a) SrsO, < CaSO, < MgSO, < BeSO,

(b) NaF < KF < RbF < CsF

(c) Ba(OH), > Sr(OH), > Ca(OH), > Mg(QH),

(d) All of these

Which of the following can not decompose on

heating to give CO,?

(a) Li,CO,4 (b) Na,CO,

(c) KHCO, (d) BaCO,

Identify the incorrect statement about the structure
of diborane.

(a) The four terminal hydrogen atoms and the two
boron atoms lie in one plane.

(b) Thereare two bridging hydrogen atoms.

(c) All_six B=H bond are regular two centre two
electron bonds.

(d). The hybridisations of both the boron atoms are

same and sp®.

75.

76.

77.

78.

79.

80.

1 3§ 9 i aRRef s sifaferar & v
H |1 A9 R $9S W B Bl GAREd dRal B 2
(@ AH>0,AG<0 (b) AH<0,AS>0
(c)AH<0,AS<O0 (d)AH>0,AS<0

T H SR A A oH W=, 7= 7 9 fas gRadq
yféra &1 g1 &

(a) 3= Soil # afg

(b) SoragT aEgam H FHHI

(c) farggerreoren # ol

(d) wefdgs Broar § afg

=1 9 9 fodl v g @ afaRea, =1 gwi o

IFfAfHIT & PAawY BIZSISA U~ Bl §, T8
I g

(a) Cu + HCI

(€) Mg + H,0 ()

(b) Fe + H,O (9)
(d) Na + Teraid

=1 9 9 fadgar (9 d4) @ fay 98 &9 &)
ﬂﬁﬁ :

(@) SrsO, < CaSO, < MgSO, < BeSO,

(b) NaF < KF < RbF < CsF

(c) Ba(OH), > Sr(OH), > Ca(OH), > Mg(OH),

(d) SRIad T+

=1 7 & B Afe T F R faafed gew Co,
9 &7 < 8 2
(a) Li,CO,
(c) KHCO,

(b) Na,CO,
(d) BaCO,

STSIRA B G @ IR H 3N $UH Ugar= |
(a) IR cfiFeT BIgSIo URATY] @ &1 dIRIM URHTY]
Uh ol § X B 2 |

(b) FET &1 AT BTSSRI URHATY B T |
(c) 9 B: B-H 9y fafid 2C-2e 99 4 = |

(d) ST IR YLHTY] BT HHIOT FHF 9 Sp3BIAT |
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81.

82.

83.

84.

85.

86.

87.

Which of the following statements is incorrect ?

(a) Sn?* compounds act as reducing agent.

(b) Pb* compounds act as oxidising agent.

(c) Oxides of Ge, Sn and Pb are amphoteric in
nature.

(d) Tin and silicon decompose steam to produce

H, gas.

Which of the following compounds does give N, on

heating?
(a) NH,NO,, (b) NH,NO,
(c) NaN, (d) Both (a) and (c)

Which of the following hydrides of the oxygen family
shows the lowest boiling point?

(a) H,O (b) H,S

(c) H,Se (d)H,Te

The shape of CIO,™ according to valence shell
electron pair replusion (VSEPR) theory will be :
(a) Planar triangle (b) Pyramidal

(c) V-shape (d) Square planar

XeF, reacts with PF, to give :
(a) XeF, (b) [XeF]" [PF ]
(c) XeF, (d) [PF,I" [XeF,Jr

A complex compound which is formed by nitrate
and bromide ligands, gives 2 mol precipitate of
AgBr, when reacts with AgNOj, the formula of
complexis :

(@) [Co(NH,);(NO,)IBT,

(b) [Co(NH,)Br]Br(NO,)

(c) [Co(NH,),Br,]JNO,

(d) None of these

Following is coloured :
(a) Cu*ion

(b) Cu*2ion

(c) both of these

(d) None of these

81.

82.

83.

84.

85.

86.

87.

T 3 | DI U TTed 87

(a) Snz* ANH JYATIH B TRE B BT ¢ |

(b) Pb* AIfi1d 3fRABRS B TRE BT Bl ¢ |

(c) Ge, SN d Pb & 3ifqaTss SHILH! Udbfa. & &
gl

(d) fe51 @ faferspt w9 a1 fagfed #x H,37 2|

1 & & P Aifie T BT |W®ON, <@ ?
(8) NH,NO, (b) NH,NO,

(c) NaN, (d) (@) T2 (c) <

RN IRAR B 1 BISSISSI H F DT ESSS

<AqH Faid. G § 7

(a) H,0 (b) H,S

(c) H,Se (d)H,Te
FAISTDHAL BT Serde= g™ ufadyer (VSEPR) Rigrd
@ IFAR ClO,” BT arbiar BT -

(a) P Focel™ (b) fIRfrsa

(c) V-3mafd (d) T FEAT

XeF, , PF, & @11 f3am &= 7 2 |

(@) XeF, (b) [XeF]" [PF ]
(c) XeF, (d) [PF,I* [XeF.]-

& A AIfE, Agge Ud aigs forvs | fieax
g1 8, 519 I Al AgNO, & fhan xan &,
2 HicT AgBr, 1 3fQed <l B, 37c: SURIG] Aqel Bl
ek

(@) [Co(NH,)(NO,)]Br,

(b) [Co(NH,)-Br]Br(NO,)

(c) [Co(NH,),Br,IJNO,

(d) T & @1g T

P19 0 BT B

(a) Cu* 3+

(b) Cu*? 3ma+

(c) SWIad Al

(d) SR | A BIg &I

- Y
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88.

89.

90.

91.

Identify the correct statement in the following :

(a) Chlorofluorocarbons are responsible for ozone
layer depletion

(b) Ozone layer does not permit ultraviolet radiation
from the sun to reach the earth.

(c) Acid rain is mostly because of oxides of nitrogen
and sulphur

(d) All of these

In Lassaigne's test to identify nitrogen initially

nitrogen is converted into :

(@ (NH,,SO, (b) NaCN

(c)NaNO, (d) NH,NO,

A hydrocarbon contains 75% of carbon. Then its

molecular formulais :
(@CH,
(c) C,Hg

(b) C,H,
(d) C,H,

Which nomenclature is not according to IUPAC

system ?

(a) CH, — |(|3 - C|:H — CH, 2-Methylbutan -3-one
O CH,

(b) CH; — (|3H — COOH  2.Hydroxypropanoic acid
OH

(©)

5-Ethyl-1-methylcyclohex-1-ene

(d) CH3—C|3H—ﬁ—CH—OH
CH, O CH,

2-Hydroxy-4-methylpentan-3-one

88.

89.

90.

9L

71 9 | DI HUF FE T

() ST IRA & &g & ol FARIFARIBIET SRR
gl

(b) NS TR G ¥ M aTel) WIS fAfehvoii o
U] FAE IP Uga 9 A 24

(C) 3 INT AT ATSLIST T2A] FhR. D AT S
@ HRYT B G |

(d) SuRTET |t

AH S gdleTv (Lassaigne's test) # ATSEISIA @I
Ugad & fad gR™ H A13SIod &I e o

gfRafdd wva & -
(@) (NH,),SO,
(c) NaNOg

(b) NaCN
(d) NH,NO,

UF BIgSIdblad H 75% H1a 8, SHDT AVRIH BT

(@) CH, (b) C,H,

(© C,Hg (d) C,H,
) T8 IS @ for S 919 IUPAC ugfa &
AR &l & ?

(a) CHs - |(|3 - C|3H — CH. 2 afrerere=-3-aifa
O CH,

(b) CHs—(|3H — COOH 2 grsgIiuiuigs st
OH

5-UfreT- 1- AT ATg dellead-1-3 1

(d) CH3—(|3H—ﬁ—(|3H—OH
CH, O CH,

2-ETSSIR-4-H U= A-3-31TH

- Y
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92. Identify the aromatic compound ? 92. /1 & ¥ pr—1 Afe wiAfesd & ?

(a) (b) (a) (b)
© C) © (@

93. Which of the following shows the correct order of 93, =1 % & BT NI &1 Hedl gl TEl o Tafid
decreasing stability : T R

+ +
+
(@) CH@_CHZ > CHsO—@—CHz (a) CHB—@—éHZ > CHQ—@—CHZ
+ + + +
> CH2 > CH3 - CH2 > @_CH2 > C:H3 - CHZ
+ + + +
(b) CH,0 CH, > CH; Eh, " CHao—@—CHQ S CH@—CHZ
+ + + +
> CH, > CH, - CH, S @—CH2 >CH, - CH,
EH . & &
(©) : > CHO Cls? (c) @—CHZ > CH@—@—CHZ >
+ + + N
CH; CH, >CH, - CH, C|-|3—<§>—CH2 > CH, - CH,
+ & N +
(d) CH,0 CH, > H, > CH, (d) C|-|3o_<§>_c|-|2 > <§>—CH2 > CH,
+ + + +
- CH2 > CH3 CHZ - CH2 > CH@_CHZ

. Resonance
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CH._  OH = *F CH. OH % —"
94. Eﬁ — 94. Eﬁ S
ThO, Q ThO, Q
A A
'P' & 'Q" are respectively 'P'q 'Q BHHI: B :
CH, CH, CH, GH, CH, CH, CH, CH,
QO 000 w0 OHO O
CH
CH, CH, * CH, CH, CH,
C d in both ;
<)©&é<)| ] (c)é&é(d)aﬁﬁé
95. Which of the following reaction is correct ? 95. fot i el srfiforar € 2
CH,I A CH,I
(a) + (CH,),Culi — (@ || + (CH,),CulLi —
—

CH,CH, ~CH.CH,
+ CH,Cu + Lil | P + CH,Cu + Lil

(b) H: = :CHZBr (CH3—CH,),Culi (b) HS - ~CH,Br (CH3—CH,),CulLi
CH; CH, CH{ “CH,
Hi, _ o~ CH:~CH,-CH, * CH,CH, Cu + Hsg o o~ CH:mCH.~CH, + CH,CH, Cu +
CH  “CH CH; ~ >CH,
LiBr LiBr
Q o]
() CH, — CH— C ~(CH, - (Chcul (©) CH,~ CH - C_CH, _(Cryou
Br Br
Q o]
. I
CH, — QY CH.+CH.Cu + LiBr CH, - CH - C — CH,*CH,Cu + LiBr
CH, CH,

(d) All of these (d) SR

. Resonance
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96.

97.

98.

Which statement is not correct for PHBV :

(a) It is obtained by the copolymenisation of 3-
Hydroxy butanoic acid and 3-Hydroxy
pentanoic acid.

(b) PHBV is used in speciality packaging and
orthopaedic devices.

(c) PHBV undergoes bacterial degradation in the
enviorment.

(d) PHBYV is non-biodegradable polymer.

The ether QO—CH2© when treated

with HI produces :

o Qo O
(b) @’CH@H & ®|
0 OrnaOrer
naTraT

Acrolein is formed when glycerol.is heated with :

(a) acidified KMnO,,
(b) Br, Water

(c) KHSO,

(d) HNO,

96.

97.

98.

PHBV & <Y H PI9«T B Told @ :

(a) I8 3-TSRIA AR MR 3R 3-BZSIF!
UCAIS® 3 B AEIgedRYl §RT UTK Bl
gl

(b) PHBV &1 S fafdre SasfSiar gen eiRerai #
TgaT UGN H A S B |

(c) TITaRYT H PHBV &1 SHdifddds. o &

ST B

(d) PHBV Sig 31 =11l 980 2 |

EEREDK QO—CH2© B HI & T

IfHT fHar S § a1 SIS 99T © |

etRat
(b) QCHQOH & QI
Yatat

(d) @OH & @’CHZI

71 9 9 fhaa a1 ReaRie T T &R+ IR Ushlellq

99T ©

(a) 3T KMnO,
(b) Br, <Tdt

() KHSO,

(d) HNO,

- Y
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99. The major product H in the given reaction sequence

99. <1 g AMWfhAT 3gpH H grg Sue H Rl 2

is
° H,SO CH;~-CH,-CO-CH,— "> G %’ H
CH.—-CH.—CO-CH, — SN ,g—==—>H
N 2 3 Heat
(@) CHs—CH=(|3—COOH
(@) CHS—CH=?—COOH L
CH,
(b) CH,~CH=C—CN
(b) CH,~CH=C-CN |
| CH,
CH,
H H
CH,~CH $C) COOH (c) CH:CH.~C-GOOH
() 7T |
CH CH;
3
(d) CH,~CH=C—-CO-NH, (d)CH3—CH=(|3—CO—NH2
Cle CH,

100. 71 AiffTpT & ford pKa &1 & & ®

100. The correct order of pKa for the following compounds

is :

(i) o-cresol

(iii) benzoic acid
@ ii>ii>i>iv

(c)ii >iv>iii >i

(ii) salicyclic acid
(iv) o-Toluic acid
(b) i >iv >iii >ii

(d) i >iii > iv >ii

(i) o-fortet
(i) SNSH 3FA
(@) i >iii >i>iv

@) i > iv > iii > i

(i) fafafers s
(iv) o-Cfes® 3
(b) i > iv > iii > ii

(d) i >iii >iv >ii

NO, NO, NO, NO,
101.@\ x ,@\ X is - 101-@\ %@\ X3
NO, NH, NO, NH,
(a) Na,S (b) Sn/HCI (a) Na,S (b) Sn/HCI
(c) LiAIH, (d) All of these (c) LIAIH, (d) All of these

102. Which is the incorrect match :

102. ST TTerd GAfrd B

(a) Buna - S chain growth polymer (@ sg-S S afg IgAD
(b) Dacron Addition polymer (b) SHIT il ateo EEGED
c) Bakelite Condensation polymer .
(© POy (c) SHeZE HE dg1D
(d) Nylon-6, 6.: Step growth polymer
(d) FrFAT-6, 6 uq afg 9ga®

- Y
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103.

104.

105.

106.

107.

108.

For HOOC — (CH,), — CH — COOH Glutamic acid
|

ONH,
value of pKa,, pKa,, pKa, are 2.00, 4.65 and 9.98
respectively. At which pH Glutamic acid will not be
obtained during electrophoresis at any one of the

electrodes.

(a) 3.325 (b) 7.325

(c) 6.012 (d) 4.65

The carboxyl functional group (- COOH) is present

in:
(a) picric acid
(b) barbituric acid

(c) ascorbic acid

(d) aspirin

Peptisation is :

(a) conversion of a colloidal into precipitate form
(b) conversion of precipitate into colloidal sol

(c) conversion of metal into colloidal sol by passage
of electric current

(d) conversion of colloidal sol into macromolecules

Which of the following reagents can separate a

mixture of AQCl and Agl ?

(a) KCN (b) Na,S,04
(c) HNO, (d) NH,
The vapour density of a mixture containing NO, and

N,O, is 27.6. Mole fraction of N,O, in the mixture

is :
(@) 0.8 (b) 0.6
(c) 0.4 (d) 0.2

Ellingham diagram normally consists of plots of AG°
vs T for formation of :

(a) Sulphides of elements

(b) Chlorides of elements

(c) Carbonates of elements

(d) Oxides of elements

103.

104.

105.

106.

107.

108.

eI F HOOC — (CH,), - CH — COOH &

|
ONH,

pKa,, pKa,, pKa, & AT HH3I: 2.00, 4.65 371 9.98
2 ¥ 9 P pH R fo Y T Seidels &
SAASIHRATT & SR TeMId 37 Tel v |

(a) 3.325 (b) 7.325
(c) 6.012 (d) 4.65
Fraifade fsharead T8 (~COOH) fha 3 SuRera

2?

(a) fafshe 3171 (picric acid)

(b) 1fdcgRe. 3  (barbituric acid)

(c) Vmifdd &7t (ascorbic acid)

(d) TRERA (aspirin)

UEH B -

(@) DIASS! e &1 @8y § HUTIRI

(b) 3ra8Ty ®T BIilgS! Al H HUTRI

(C) IYT—YRT BT YaT2d HR 8T B Bless! Al J
FHUTIRT

(d) PSS! At BT T8 370] H HUFARI
1 9 & P ifWaHas AgCla Agl @ fasTor &t

Yk B Ahdl & 7
(a) KCN
(c) HNO,

(b) Na,S,0,
(d) NH,

NO, @ N,O, @& 50T &1 a1 e 27.6 8 | fs1o1

N,O, &1 et fir= & :
(@) 0.8 (b) 0.6
(c) 0.4 (d) 0.2

AMA: Ufele NG 1 & faRae & forl AGO qen
T #e9 9% Bl § ¢
(a) Tl & AHIZS
(b) Tl & FARTSS
(c) ddl & BEHE
(d) Taf & IfaTSS

- Y
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109.

110.

PhCHO and CH,CHO can be distinguished by

(a) Tollen's test (b) Fehling solution test

(c) 2, 4-DNP Test (d) Molish test

Give the order of decreasing reactivity towards an

electrophile.

OCH, C,H;
30 . O
@) ) @)

NO, Br
0. 0
) (5)

(@2>3>1>5>4
(c)5>4>2>3>1

(b)3>1>2>5>4
(d1>5>2>3>14

SECTION - 1l
Reasoning Type
This section contains 10 reasoning type
qguestions. Each question has-4 choices
(a), (b), (c) and (d), out of /which ONLY
ONE is correct.

109. PhCHO Ten CH3CHOEbAf HaD gRI fawfad faar s

AT B |
() Steie gteor
(c) 2, 4-DNP uxeroy

(b) wefer faerm axieror
(d) =ferer ey

. SO ETEl & ufa fopareliaan &1 gedn gen w9

ERIERN
OCH, C,H,
(1) (2) (3)

NO, Br
4 5)
(@2>3>1>5>4
(c)5>4>2>3>1

(b)3>1>2>5>4
d1>5>2>3>4

gus- ||

BRI YhR

39 WS H 10 BRI YHR & U39 8 | AP
yed & 4 faweu (a), (b), (c),aAT (d) g,
599 4 9%t 9 2 |

The following questions consist of two
statements one labelled ASSERTION (A)
and the another labelled REASON (R).
Select the correct answers to these
questions from the codes given below :
(a) Both AandR are true and R is the correct
explanation of A.

(b)'Both Aand R are true but R is not correct
explanation of A

(c)Ais true but R is false

(d) Aand R are false

=1yl 4 9 U A Q) 9199 ¥, UF BAA
(A) T U1 ®dRY (R) F R W A
P IMYR W Fel SR Bl ggaT=1 |

(@) A 9 R GFI 9 & @1 RA &I T8l TR0
gl

(b) A 9 R SAl 9 & fbg R, A &1 |El
TLEIHRO T 2 |

() A 9 & fbg R 3 € |

(d) A g R S 3T B |

- Y
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111

112.

113.

114.

115.

Assertion : All H-like particles contain only one
electron.
Reason : The radii of corresponding orbitals in all

H-like particles are equal.

(@A (b) B
(o C (d) D
Assertion : Between SiCl, and CCI, only SiCl,

reacts with H,O.

Reason : SiCl, is ionic and CCl, is covalent.

(@A (b) B
(¢ C (d) D
Assertion : Areaction which is spontaneous and

accompanied by decrease of randomness, must
be exothermic.
All

accompanied by decrease of randomness.

Reason exothermic reactions are

(@A (b) B
(c) C (d) D
Assertion : The crystalline salts of alkaline earth

metals contain more water of crystallisation than
the corresponding alkali metal salts.
Reason : Alkaline earth metals have smaller size

and more nuclear charge.

(@A (b) B
(C (d) D
Assertion : In strongly acidic solutions, aniline

becomes less reactive towards electrophilic
reagents.

Reason : The amino group being completely
protonated in strongly acidic solution, the lone pair
of electrons on the nitrogen is no longer available

for resonance:

111.

112.

113.

114.

115.

P ;. TH H-THE BV Hdel Uh gldeid & © |

BRU ;. A H-9aF gofadl § 9 $efd Bl

frear g9 B 2
(@) A (b) B
(c)C (d) D

A : SiCl, 1 CCl, § ¥ ®aal SiCl, H,0 & w1
fopan van 2|

BRI : SiCl, AT 2, AT CCl, EHATD & |
(@) A (b).B

(©cC (d)D

B : Uh AL I waa: SR Arelodd I
Sl gRT B &, Sl g |

HRO : T SSEd ARy arefedd 1 e

ERT 9 Bl € |
(@A (b) B
) C (d) D

o

FU : ERIY HET UTg3ll & el a0 3 TediId

&R ©Tq SAdVI DI STUET 37D fhecelIhRol STet BIa
gl

PRI : &RIY 7T TG3H BT HR BICT 3R AHDIY
SIENEICIRCIS IR
@A

(¢ C

(b) B

(d) D

BYH : Tl T e #, UfelE geiasieed)
sl & ufd &9 fareia 8 2
PR . TAAI G U9d g faedd # ol
AICIIehd 1 ST 8 | 09 ATggioid R SUReId Tl

golag | g IR & foly Suae &1 B @ |

- Y

(@A (b) B
(@A (b) B
© C @ b ©) C (d) D
Resonance
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116. Assertion : The freezing point of water is depressed 116. T2 : D AT WR S & @A g 4 sra=w
by the addition of glucose. BT e |
Reason : Entropy of solution is less than entropy PR : [T & T, gg faams @ e 4
of pure solvent. ®H Bl 2 |
(@A (b) B (@A (b) B
(c) C (d) D (c)C (d) D
117. Assertion : For a reaction A(g) — B(g) 117. P2 : A A(g) — B(g) ® e
-r,=25P, at 400K -r,=25P,, 400 K&
-r,=25P, at 600K -r,=25P,, 600K WX
activation energy is 4135 J/mol. afshaor Sott 4135 J/mol €1
Reason : Since for any reaction, values of rate HRU : gt fodl o rarfie afffhar & fou
constant at two different temp is same therefore I S @1 |ipaer o1 @ w9 = 8 al, &
activation energy of the reaction is zero. AT Tt TR AR @ W W B
(@ A (b) B (@) A (b) B
(c) C (d)D (c) C (d) D
118. Assertion : Sulphur exhibits paramagnetic 118. U : T 37ARAT H FHR JJFHDII AGSR Ml
behaviour in vapour state. 2l
Reason : In vapour state sulphur partly exists as PIROT © I IGRA] § Toh S, 37 P w9 § Ul
S, molecule which has two unpaired electrons in ST & | ot wfcre=i n* cperh § <1 argfiad goragte
antibonding 7* orbitals. 2
(@A (b) B (@) A (b) B
(c)C (d) D (cgC (d)D
119. Assertion Benzaldehyde | undergoes 119. HM : Tifcselgs &N Aea ¥ fAwATurT rffehan
disproportionation reaction is basic medium. Totfar R
Reason : Aldehydes which do not have a-hydrogen PR : TRTETES R o-STgSIor T8 2, ST
undergo Cannizzaro reaction w8
. . . . . aqH§Qﬁ SIEIERRCIGIED |
(i.e. disproportionation reaction). ( )
(@ A ) B (@A (b) B
©) C (@ D (c) C (d) D
120. Assertion : a-amino acids have Zwitter ion 120. @ : o-UHIHT 37Fel SR AT YT X € |
structure. PR -THAE] 3Fd TH HR- WX b THATSS
Reason : a-amino acids on heating form cyclic _
amides. T2l
(@A (b) B (@A (b) B
(GRS (d)D (c) C (d) D
. Resonance
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PART C

SECTION - | o
Straight Objective Type
@Y g ToR
This section contains 40 multiple choice 3 @vs ¥ 40 ag—ﬁ?b_(vm' U | IAD U b
guestions. Each question has choices (a), 4 Rweg (a), (b), (c) T (d) & R 9 R
b), (c) and (d), out of which ONLY ONE is
(b), (c) (d) .
correct.

121. Fermentation is differ from aerabic respiration 121. fved, aradig vade & B 2

(a) In having partial breakdown of glucose. (a) @ @1 3G fEeT B
(b) In producing less ATP per glucose. (b) SfY oIS B ATP g B
(c) In having slow oxidation of NADH + H* to

(c) NADH + H'" &1 NAD" ¥ €141 SeRfhRor el |
(d) SURRH

NAD*
(d) All of the above

122. During TCA which of the following intermediate ~ 122.TCA @6 & aRTM 71 § & @19 &1 HAN
is a result of two sucessive decarboxylations? faamraifaaeidR &1 gRum g ?

(a) Oxalosuccinic acid

O EIESEISIESIRE S
(b) o - Ketoglutaric acid

b) o - @IerI ¥
(c) Succinyl Co-A (b) TR
(d) Cis aconitic acid (c) Afda=TIsel Co - A

(d) RragaiAfes e

123.Minamata and itai-itai are 'caused by the 123.fA-THIET J2 ST - 3CI8 HAR: e UgE®
pollution of : ERT 89 2|
(a) Mercury and Lead (a) TR 7o W g
(b) IR T HSFRH NI
(c) ¥ T feF grI

(d) A= derr LIRRM grRI

(b) Mercury and Cadmium
(c) Lead and Tin

(d) Lead andsstrontium

-V Resonance
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124. Match the following 124. e HYv—

(A) Carbohydrate(l) 1.3 ?) FrTase )13
(B) Tripalmitin (Ino.e - 1009
(C) Proteins (mo.7
(D) Organic acids (v 1.0 © ELE (i o.7

A B C D (D) PHEfY® 3= (IV) 1.0
@V [ I [ A B C D
(b)V i I | @V 1l I [
©m N I | (b)NV Il I |
(d)! I I NV (e \ Il I

() I Il NV

125. Potato growing in cold climate or hilly areas 125 ugrsl &1 arrar S wRN # S ATl 3¢l 99
are bigger in size this is due to 3PN & B & FIfh—

a) High rate of photosynthesis : _
() Hig P y (@) STH UHTeT HITTOT 3ffH Bl &

(b) ST TawH X HH B B

(b) Low rate of respiration

(c) Low rate of transpiration
(d) Greater synthesis of fat in cold climate (c) SH aruIeeSi &) BH Bl 8

(d) T F THT BT ALATT AfdH BT B

-V Resonance
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126. Which of the following diagram represent ATP 126.379 ¥ HAT o ATRRRON uRbeuAT gRT

synthesis in mitochondria by chemiosmotic ArEerEIRAr # ATP WweoT @ T o
hypothesis

IM= Inner membrane
IM= Inner membrane
M = Matrix ,
a M = Matrix

OC = Outer Chamber OC = Outer Chamber

] Vet My Aoeee
@ oc LI N/ »atp 2 U‘\/ﬁe
M (@ oc ATP

M

ﬂ—/_\/ ADP +iP
ADP +iP 26« 2¢e”

26« |—I‘g/xfze- ()" oc LFM ATP

B oc LI~/ sarp M

M VY

ﬂ—/\/ ADP + iP
Lr_u(EHATP
M

ﬂwADPHP 2H*
2H" > 2l (¢ oc
© oc UMATP

ﬂﬂADPHP
ﬂﬂ ADP +iP 2H"< oH*
oH'e o d) oc UMATP
d) oc UMATP M

M IM

-V Resonance
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127.Four respiratory enzymes are given below.

Arrange them in increasing order of the carbon

number of the substrates on which they act.

(1) Enolase (11) Aconitase

(1) Fumerase  (1v)Alcohol dehydrogenase
(b) IV, 1, 11,111

(@) IV, 1,111, 11

@) 11,1V, 11,1
© 1,1V, 111,11

128. The following is a simplified scheme showing

the fate of glucose during aerobic and
anaerobic respiration. ldentify the end
products that are formed at stages indicated
as A, B, C and D. Identify the correct option

from those given below

Glucose
Glycolysis
[ ® |
Presence of Absence of
Oxygen Oxygen
J/ Fermentation
Kerb's cycle '
\ v
Bacteria Yeast
[® 1 ¥ v
e ] [ ®

(a) A= Carbon dioxide and water, B= pyruvic
acid, C= ethyl alcohol and carbon dioxide, D=
lactic acid

(b) A= Pyruvic acid, /B=_carbon dioxide and
water, C= lactic acid, D= ethyl alcohol and
carbon dioxide

(c) A= Pyruvic acid, B= carbon dioxide and
water, C= ethyl alcohol and carbon dioxide,
D= lactic acid

(d)»A= pyruvic acid, B= ethyl alcohol and
carbon dioxide, C= lactic acid, D= carbon

dioxide and water

127. 9 oy T IR I TRl Hl bl fH R 9

fohaT BRI € P AL B BT T B 93
PHH D IMYUR TR AARAT HITY —

OR§ISE! (I1) TP
(1) TR (IV) TchIgd SIETggISiol
@) 11,1V, 111, 1 (b) IV, 1, 11,111
(©) LIV, 111,11 (d) IV, 1,110, 11

128. A TAT AT TGET b AR TIPS B

I BT AR o fear w7 sifeaw Sared
BT Uga=e Sl faffed A, B, C 1 D Iravernaiy
¥ gd & | 9 Ry TR fadedl § 9§ 9E) fddou

BT TIT DIV U |
Glucose
Glycolysis
& ]
Presence of Absence of
Oxygen Oxygen
v .
Kerb's cycle Fermentation

v v
| Bacteria Yeast
® J J
-2 6 67

(a) A= BrETSISATaATES Tl STel, B= URsidd

371, C= SIS Uchlgicl 0l BIaASISIRISS,

D= difdcd a7

(b) A= TTTHfAd 31, B= Brd-TSIsiiaargs

ST, C= oifded 3, D= A8 Uchlalial el

BHIITSIS TS S

(c) A= IS 37, B= Ha-TSTSIifRITSS

STel, C= SUTSH Yedhlald a2l hIaTSISATRTSS,
D= oifded 3/
(d) A= UTTRfdd 31, B= 318l Uediaial

HTdASIS ATFAISS, C= dfdec®d  ar+d,

D= PSS RISS dAql el

- Y
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129. A molecule of ATP is formed when electron

passes from
(@) Cytctocyta (b) cytatocytc
(c) cytbtocytc, (d) cytatocytb

130. Which of the following is not a crucial eventin

aerobic respiration.

(a) The complete oxidation of pyruvate by
stepwise removal of hydrogen atoms.

(b) Leaving three molecules of CO, by pyruvic
acid

(c) The passing on of the electrons removed as
part of the hydrogen atoms to molecular O,

(d) Breakdown of fructose, 1, 6— bisphosphate
to form PGAL and DHAP.

131. Which of the following is most dangerous to

wild life?
(a) Over exploitation
(b) Man made forest

(c) Habitat destruction

(d) Introduction of foreign species

132. Biomagnification of DDT causes decline in'bird

population by

(a) Bringing disturbance in calcium metabolism
(b) Thining of egg shell

(c) Premature breaking of eggs

(d) All the above

133.Indian forest policy (1988) of india has

recommonded ....a.....cover for the plains
&....b.... for the hills

(a) a—60 %, b—20 %
(b) =33%,b—-67%
(€) —29 %, b—-71%
(d) —27%, b-73%

129. fFaH goraed warfed 89 | ATP 991 © |

(a) Cyt-c & Cyt-a (b) Cyt-a & Cyt-c

(c)Cyt-b & Cyt-c, (d)Cyt-a ¥ Cyt-b

130. I TgEE & i Hecayol =Ruli H 9§ DA

131.

132.

133.

AT R 4 A U B 2

(a) TRHAT FA BT HHH-Hd H ESSIoH
WAV & T g1yl sifaie<or

(b) UrTEAe 3 §RI CO, & oI 37Ul bl
qfh

() BISSISH WRHIRI & YR & w9 H Geh 8 drel
SOlRH D1 JMMVad SieRIST I Talied &l

(d) Fructose, 1, 6— bisphosphate &1 PGAL 211
DHAP. & &1 & foy faga

7 4 9 d 99 oAl & fog w99 1t
EARATD B

(a) 3rforenyo

(b) w19 Affa a9

(c) maN fa=eq

(d) TR AT BT gRRIA
DDT &1 Wid 37aeiq fhd yeR uelldi &) gafe
Hgerdl § -

(a) Hfcer™ U= # RIY TTdHR

(b) vSHAT BT TdAT IR

(c) JUSi BT JURYFE 3faRAT H Arel

(d) SR 9

HRT @ R 99 AIfd (1988) # #gI e
% ol .....a..... TT Ui &A1 & fold ......b......
& P A DI g T -

(a)a—60%, b—20 %

(b) —33%, b—67 %

() —29%,b-71%

(d) —27 %, b—73 %
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134 This is metabolic pathway occuring in our cells 134.78 AR IR § 89 arel SulgeRl g

Label. Substrates from Ato G. with the help of Y Eratfug s B G A A TG
following terms.
J foraeRi @1 fafea &g |
1. Glycerol
1. Glycerol
2. Glycolysis
2. Glycolysis
3. Amino Acids
3. Amino Acids

4. Krebs Cycle
5. Acetyl Co-A

4. Krebs Cycle

5. Acetyl Co-A
6. Pyruvate

6. Pyruvate
7. Fatty Acids

7. Fatty Acids

[ Carbohydrates )

| Proteins
Fats i
@’—B“—r_ ------ > Fats A i
2 D e T
¢t D St
E
. E
c «
E c |
v @
o I = » ¢
H,O
G fT 2
CO,
(@D-1,A-2, B-3,G-4F-5C-6E (@D-1,A-2 B-3, G-4,F-5C-6,E
-7 _7
(b)D-1,A-2 B-3, G-4,F-5E-6C ()D-1,A-2, B-3, G-4,F-5E-6,C
-7 _7
(©Ds1,A-2,B-3, F-4,G-5C-6E ()D-1,A-2,B-3, F-4,G-5,C-6,E
-7 _7
(d)B~1,F-2, D-3, A-4,G-5C-6E (d)B-1,F-2, D-3, A-4,G-5C—-6,E
-7 _7

-V Resonance

Educating for better tomorrow SN  PAGE # 30



135. Respiration is useful for— 135.39a4 fhgs forg suarh 32—
(a) Growth (a) afe

(b) Conversion of solar energy

(b) IR ol & HUART H
() O, @ T #
(d) CO, & fwpra 4

(c) Releasing O,
(d) Releasing CO,

136. Water releases protons and 12 molecules of 136. 91Ul #§ Al HRAH B—

water will release— (a) 48 H* (b) 12 H*
(a) 48 H* (b) 12 H* (C) 24 H* (d) 64 H*
(c) 24 H* (d) 64 H*
137. Injury to plants leads to — 137.97e4l # dre Farfera HRard 8-
(a) Increase in respiration (a) a9 ¥ afg

(b) Decrease in respiration (o) SN

(€) Taad ¥ BI$ uRac =&
(d) 3999 § UgSl FHHI T fx afg

(c) No change in respiration
(d) First decrease and then increase in

respiration

138.How many of the four membrane bound 138. ArseTdif~gdr # IR el I digerad § 4

complexes used in mitochondria are proton ReaS TIE @1 Y B F B T o
pumps. @1 (5) 3

@1 ()3 ©)2 @) 4

(c)2 (d)4

139. Number of oxygen atoms required for complete ~ 139.T&% Y] UIefdd ol & ol ifRISHR0 2q

oxidation of one molecule of pyruvic acid is— Rrary sifeiior TRATpsH @) omawaedT 2|
(c)8 (d)6 )8 (d) 6

-V Resonance
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140.

141.

142.

Aerobic respiration produces 264 gms of CO,,
than how much CO, produced from the same
weight of glucose in alcoholic fermentation.
(b) 528 gms

(d) zero

(a) 132 gms
(c) 88 gms

|dentify the true statement/s
(a) Hepatitis-B is a chronic infection

(b) Nicotine stimulate adrenal gland to release

nor adrenaline

(c) excessive doses of coccaine cause

hallucinations

(d) An antitoxin is generally a preparation

containing antibodies to toxin

(@)onlya,c,d (b) only b, c,d

(c)onlya, b, c (d)a, b, c,d

Identify the true statement/s

(a) Inbreeding is necessary if we want to

evolve pureline in any animal

(b) outcross is the best breeding method for
animals that are below average inproductivity

in milk production
(c) Hilsa is most common edible fresh water

fish commonly used in coastal india

(d) Hirsadale is a sheep developed in punjab by
using technigque of interspecific hybridisation
(@)onlya, b (b) only a,b,c

(c)onlyc,d (d)a,b,c,d

140. qr9dR T999 | 264 gms. CO,, Iwrfad 8l 3

141.

142.

a1 Temlaiford fdhvas § FH WR dTel T@rsl
q fdal CO, Safed e

(a) 132 gms (b) 528 gms

(c) 88 gms (d) zero

A B/ B H ygaTd -

(2) IPALL—T Th RRGRY FHAT T |

(b) FBIEH stftraa® U BT AR—TfSTeA Aifed
FRA D o I Bl © |

(c) PIHT B IJAH H=1 | fAYH B W7 2|

(d) U Hfsnfay (antitoxin) A T Wi fRfAd

& fora 3fay (toxin) & fordr mfoRfErdt 8 7|
(@ onlya,c,d (b) only b, c,d
(c)onlya, b, c (d)a, b, c,d

T B/ HAA BT U=
(a) T 1 IR & Uy H Yg IhA fadmad

B P foR IAYST AIITD 2 |

(b) T IR &THd H HAGR TS & ford
IfRHBT U 1w fafdy AN Sl 2
(c) R sreraviig STet o AeT TeT @Tel Aol & |
R |Fge: TE YR H RN a1 ST B
(d) fERaredt W Dl U <l © forad! fddwrT uoe
¥ SifARne pRor B dpid gRI fbal TR 8|

(@)onlya, b (b) only a,b,c

(c)onlyc,d (d)a,b,c,d

- Y
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143. 143.
The accompanied diagram shows right pectoral IR aTel o A Hu Y B IR I H@el
girdle and upper arm (frontal view). Identify A F T &, TA AN G dF ugant
toG

(a) A - 9gaTT adtsl, B - wgel, C - 8R4, D -
(a) A- 1st Vertebra, B - Scapula, C - Humerus,

D - Radius, E - Ulna, F:- Carpals, G -

ST, E - 371, F- BIde, G - HeThiid

(b) A - YT, B - Feifdehel, C - §FARY, D -

Metacarpals
(b) A- Scapula, B - Clavicle, C - Humerus, D - f$T™, E - 37e1, F - d1de, G - HeThried
Radius, E - Ulna, F - Carpals, G - Metacarpal (C)A- 3ferH, B - ¥ge, C - &R, D - X3,

(c) A - llium, B - Scapula, C - Humerus, D -

E - 3T, F - &19d, G - Heldhrid
Radius, E - Ulna, F - Carpals, G - Metacarpals

(d) A- Clavicle, B -Scapula, C - Humerus, D -

(d) A - Ffddd, B -wbyal, C - 8gHR9, D -

. ST, E - 371, F - B, G - HeThIud
Radius, E - Ulna, F - Carpals, G - Metacarpals

144. Following is the figure of actin (thin) filaments. 144. 791 = | Ufded (uden) d=] @1 =01 =&
Identify A, Band C. 2 399 A BARCHI R

.ﬂl

ﬂ.b\ b B
Siee gy

(a) A- Tropomyaosin, B - Troponin, C - F-actin

(@) A - MR, B - g, C - F-ufded
(b) A - ZraT=E, B - SHUMRIING, C - AR
(c) A - 2rifa=, B - AMAIRM, C - SraM™IReE

(b) A- Troponin, B - Tropomyosin, C - Myosin
(c) A - Troponin, B - Myosin, C - Tropomyosin
(d) A-Troponin, B - Tropomyosin, C - F-actin

(d) A - ZIUI=H, B - SAMRRH, C - F-yfded

-V Resonance
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145. Match the columns - 145.37%7 | 9 1l &1 fAa™ aifsig

| I

(a) s 3fw (i) e st Freed

(a) Myasthenia gravis  |(i) uric acid crystals

(b) Muscular dystrophy |(ii) Ca2* deficiency (b) W f&Ewl (i) Ca*? &1 B
(c) Tetany (i) Autoimmune disorder © P (ii) S A -
(d) Gout (iv) degeneration of muscle _
A B c D (d) e (iv) ORIl @1 faered
@iv i i i | A _E_‘ C D
i v i @i i
©ii v i i ()it v '
. . . (c)iii iv i i
(d)iv iii i ii ) _ )
(d)iv iii i ii

146. Choose the letter from the figure that most ~ 146. =1 R & A S 31eRi &1 =d= BY il WA

appropriately corresponds to the structure - DI FEl w9 H SAW B
D
'?‘ ! G E
o N EEER T N EETOET; Lt — ——
s Relaxed  3—— 11T jpfRARRE R A
Relaxed E e Bl e aaans :
] E — B f
; C
F
|.A-S7S . -7
|.LA-band Il. 1-band
IIl. Sarcomere IV. H-zone o IV. H-sf
V. Myosin VI. Actin, Troponin, V. AR VI. gfees, g,
Tropomyosin LGP
VII. Z-line VII. Z-X@ET
@1-E11-D, lll-F, IV-G,V-B,VI-C, VIl -A @1-E11-D, lll-F, IV-G,V-B, VI-C, VII-A
®)I-E,II-D,II-FIV-GV-C,VI-AVII-B ) I-E, II-D,II-FIV-G V-C,VI-AVII-B
(¢)I-E,Il-D, lI-C,IV.-G,V.-B, VI-A, VIl - F (©)I-E,II-D,I-C,IV-G,V-B,VI-A VIl -F
@) 1-E 1I-D,Il-FIV-A V-B,VI-C, VII-G @1-ENI-D,I-FIV-AV-B,VI-CVII-G
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147. Match the column

(1) examination of(a) PET scan

multiple sclerosis

(2) Detection of spina bifida (b) Endoscopy
(3) Tumour of stomach  (c) MRI

(4) Study of schizophrenia (d) sonography
(a) 1-c, 2—d, 3-b, 4-a

(b) 1-c, 2—-d, 3—a, 4-b

(c) 1-d, 2—c, 3-b, 4-a

(d) 1-c, 2-b, 3—d, 4-a

148. Match Column | with Column Il -

Column | Column |l

(Number of bones)

.29 A. Cranium (Brain box)

I.8 B. Skull (Cranial and facial
bones)

.14 C.Face

V.24 D. Hind limb

V. 30 E. Ribs

@A-1,B-11:.C-lIl,D-V,E-IV
(b)A-11I,B-1,C-H.D-V.E- IV
(©) A-l, B&IL, G-I, D -1V, E -V -(V)
(d)A-V,B-IV,C-1ll,D-1I,A-1

147.

148.

DicH AT PN

(1) e WeRIRN (@) PET W&+

B GRIETT

(2) wTST AL (b) sia<el wfspa
‘DT Ydl Tl

(3) SATATA BT Fqct (©)MRI

(4) RISTIwi=rr &1 31egae (d) AR
(a) 1—-c, 2—-d, 3-b, 4-a
(b) 1-c, 2—d, 3—a, 4-b
(c) 1-d, 2—c, 3-b, 4-a
(d) 1-c; 2=b, 3-d, 4—a

=t &1 gafora aifod

®DicH | Cacedl

(Rerai @t ww=)

.29 A. %\ (Cranium
/ Brainbox)

I.8 B. ¥hd [Skull (Cra
nial and facial
bones)]

IIl. 14 C. usxI(Face)

IV. 24 D. 9%= g (Hind
limb)

V.30 E. gaferan (Ribs)

@A-1,B-1.C-1I,D-V,E-IV
(b)A-1I,B-1,C-1.D-V.E- IV
(©) A-l, B-II, C-lll, DIV, E - V- (V)
(d)A-V,B-IV,C-1ll,D-1I,A-

- Y
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149. Which one of the following statements is true

regarding digestion and absorption of food in
humans?

(a) Fructose and amino acids are absorbed
through intestinal mucosa with the help of
carrier ions like Na*

(b) Chylomicrons are small lipoprotein particles
that are transported from intestine into blood
capillaries

(c) About 60% of starch is hydrolysed by
salivary amylase in our mouth

(d) Oxyntic cells in our stomach secrete the

proenzyme pepsinogen

150. Which one of the following is a fat-soluble

vitamin and its related deficiency disease?
(a) retinol - xerophthalmia

(b) cobalamine - beri-beri

(c) calciferol - pellagra

(d) ascorbic acid - scurvy

151. Which one of the following is the correct

matching of the site of action.on the given
substrate, the enzyme acting upon it and the

end product?

(a) small intestine: proteins __Persin_, amino
acids

(b) colon : fats __Lirase , micelles

(c) duodenum triglycerides
__Twesin_ monoglycerides

starch

(d) small intestine

L a-Amylase o disaccharide (maltose)

149. 99 H HISH & UTa Qd SfaRNYl & e H

fFfalRad & 9 S9-91 doF 93 B

(a) AT RIBRAT §RT Hacrd q 3FIAI Al
BT YT dI8h M1, o9 Na* & FerIdl
H Bl |

(b) BTSATHIZHH BIC fAUIET HF € ST 3N
H I BRIGRIT A RMERIRT 8 2 |

(©) R H@ # AN THGAA FRT T

60% HUS BT UTdS & Sl © |

(d) srm\rery | oefffeafied wifdiden grRi
qIg=Tgd Uftasro nfad 8rar g1

150. fFr=ifeifae 5 9 $IF—A1 Uh gAT—goTeid

eI IR S99 Awfa ImmE I 287
(@)X — SRIBATHAT
(b) BITATHH — -8

(c) dfeTBRIA — Ut

[N oC

(d) Vprfdd TRIS — Thd

151. fF=foRaa ¥ 9 fd e fdeed # fhar et QiR

96 I Y T R, 99 fhamR W fhar
PR dlel Trollgd I 3if<d Sdie o I8! e
B

(a) 1T offq : Wity _ 9T o o
(b) Wi : gy _ I Ried

(c) gevft : grsfaavgsw  _Rftas |
BIBIES RN ERT

(d) BIS) 3ifd - TRl o-TAEdd | SIEdaNgS

(ATeEIS)

- Y
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152. Which of the following are required in less 152. /9 ¥ fraa) 7T P IR § HY gE] H
amount by human SR o B

(@) Iron, iodine, carbon, manganese, copper, O L
o o (@) JATIRA, ATAISIF, Brdd, HHIS,  BIUR,
(b) Iron, iodine, manganese, copper, zinc,

: JTRATSTA
fluorine
(c) Iron, iodine, manganese, zinc, hydrogen (b) SR, IMATSI, IS, PIUR, ISP, FelXI
(d) Nitrogen, oxygen, zinc, fluorine (C) IMRA, A, AN, [T, BISSISH

(d) FTSeIoH, SifRioH, Rid, FeiRH

153. Match the column

Column A Column B 153. gaferd S -
(1) W. malayi (a) Aedes mosquito Column A Column B
(1) W. 7erg (a) U Heex
(2) Reservoir of erythrocyte (b) a- interferon (2) <l (b) a- SERBRI
BRI BT FUT

(3) Biological response (c) Spleen

(3) Sifas argferan (c) =TT (Spleen)

modifier

®ATaR (Biological
(4) chikungunya (d) filariasis response modifier)
@1—d,2—c,3—b,4—a (4) forepraforan (d) PreeiRamir
(b)1—c,2—a,3—d, 4—D @1—d,2—c,3—b,4—a
(c)1—d,2—a,3—b,4—c (b)1—c,2—a,3—d, 4—b
(d1—c,2—d,3—b4—a (c)1—d,2—a,3—b,4—c

(d)1—c¢,2—d,3—b,4—a
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154. Match the item in Column | (vitamins) with

those in Column 11 (deficiency diseases)

Column | Column 11

(Vitamins) (Diseases)

l. K A. Beri-beri

I. D B. Haemorrhagic
disease in new born

ll. B, C. Night blindness

V. A D. Rickets

Which one of the following is the correct
matching of all the four vitamins

(@) I-C, I-B, 1-D, IV-A

(b) I-A, 11-B, 1lI-D, IV-C

(©) I-C, II-A, llI-D, IV-B

(d) I-B, II-D, llI-A, IV-C

155. Probiotics are -

(a) cancer inducing microbes
(b) new kind of food allergens
(c) live microbial food supplement

(d) safe antibiotics.

156.When breast feeding is replaced by less

nutritive food low in proteins and calories; the

infants below the age of.one year are likelyto

suffer from
(a) Marasmus (b) Rickets
(c) Kwashiorkor (d) Pellagra

154. =0 | (fAeTf®=) &1 = 11 (378 JT) 3 GHford

BIAY

A | (fetfs) g 1 (sredaT J)

. K A—

I. D B Fa<Id # Ihurd I
lll. B, C. xdiei

V. A D. Racd

IRI fAeIfq &1 91 5.9 S a6 FE—aal
RGN

(@) I-C, II-B, I1I1D, IV-A

(b) I-A, 1I-B, I1I-D, IV-C

(©) I-C, II-A, 111D, IV-B

(d) I-B, 11-D, I1I-A, IV-C

155. qefees &1 8 27

(a) PER—IRS FeAoid

(b) T YPR & T Teloi
OESERRNICIRCIEECERED
(d) gRea Vrarnfead

156. 3¢ Usp a9 | P AR drel R HI I

D WM W HH YISH TAT $H bR & A
U9l grel SR &y SR 1 I S A1 W
M B GHEA B |
(a) IR

(c) FRRIRGR

(b) Rebes
(d) tremm

- Y
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157.Given below are four statements (a-d)

regarding human blood circulatory system
(a) Arteries are thick-walled and have narrow
lumen as compared to veins

(b) Angina is acute chest pain when the blood

circulation of the brain is reduced

(c) Persons with blood group AB can donate
blood to any person with any blood group

under ABO system

(d) Calcium ions play a very important role in

blood clotting

Which two of the above statements are correct
(a) (c) and (d)
(a) and (b)

(b) (@) and (d) (c)
(d) (b) and (c)

158. Which one of the following statements is

correct regarding blood pressure

(a) 130/90 mmHg is considered high and
requires treatment

(b) 100/55 mmHg is considered an ideal blood
pressure

(c) 105/50 mmHg is makes one very active

(d) 190/110 mmHg may harm vital organs like

brain and kidney

157.79 IR oA (a-d) &I 1 @ &, e dae

T 999 SR IREERT a1 9 © -

(a) RR1H @1 o= # g ffdd Al JaR
arell BRl 8, Td Id] BRG] FHIUl B ©
(b) ToTrgT, B @ <fig dieT Bl ® S ARk
H QT WG F Ugd UM & HRU BRI 2

(c) AB Y& g dTel fth ABO T & 3T=id
fddl 9 =k BT RS < FDhd ©

(d) TH—Th= HI U1 H DHfcaad =T @t
3= HEdqul YHABT Bl ©

SR & T HUHI H DA A I HAF Al 57

(a) (¢) mr(d) (b) (a) e (d)

(c).(a) 7= (b) (d) (b) T (c)

158.%dd T4 & favg § w1 He-1 Tl 8 ?

(a) 130/90 mmHg =1 Yo 19 AT S 2,

RTad SuaR fdhar SIHT Siesl 8

(b) 100/55 rnmHg U 37&3 Iad <19 &

(c) 105/50 mmHg Y& &9 Afdd Bl 98d g
g1 ST B

(d) If& @& 190/110 mmHg B3 a1 S|H Al
AUl 31 oI o ARTSs q21 gapi (T[Q1) B
T uga dadl 2|

- Y
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159. Match the column

Column | Column Il

(i) Atherosclerosis(a) When heart
muscle is suddenly
damaged by inad
equate blood supply

(ii) Cardiac arrest (b) When heart is

not pumping blood
effectively enough
to meet the needs

of the body.
(i) Heart failure (c) Caused by de
posits of calcium,

fat, cholesterol and

fibrous in lumen of

arteries

(iv) Heart attack (d) When the heart

stops beating.
(@) () (c), (i) (d) , (iii) (b) , (iv) (2)
(b) () (d) , (ii) () , (iii) (b) , (iv) (2)
(c) () (c) , (i) (d), (ii)) (a) , (iv) (b)
(d) () (c), (i) (b) , (iii) (d) , (iv) (2)

160. Match the column

(a) baculovirus (@) free living nitrogen fixer

(b) Azotobactor  (b) Aphids
(c) Lady bird (c) Nucleopolyhedrovirus

(d) Monascus (d) Blood choles

purpureusterollowering agent
(a)a—3,b-1,c-2,d-4
(b) a-3, b—1, c—4, d-2
(c)a—1, b-3,c—4,d-2

(d) a=3, b—4, -1, d—2

159. ®fe gHferd BT

et

(a) geaush @l &
3Mgfct SIS
U B O ¥

Picd |

(i) (TRRNT AdiRIRT)

ARG &fl g ¢ |
(b). T IR @
A= Wit @
JMITIHATTAR T
aMYfel &1 Hx Ul B |
(c) g 9T gHf=T
& 37GR bfowdd, T4l
qer 3=y eI SrTabi
& ST B ¥ BT ©
(d) BT B ISP
g8 B Wl B
(a) (i) (c), (ii) (d) , (iii) (b) , (iv) (a)
(b) (i) (d) , (ii) (c) , (iii) (b) , (iv) (a)

(©) (i) (c) . (ii) (d) , (iii) (&) , (iv) (b)
(d) () (), (ii) (b) , (iii) (d) , (iv) (2)

(i) geaTa

(iii) B BER

(iv) gaurd

160. dfe Gl o

(a) SRIETarRRR (a) geRITaReN ¥ Y8R
Arsgio ReRIHR
B dqTed

(b) TolSdR (b) Tfther

(c) | (dea) (c) ~gfdtanfetel-
SRR CIREES]

(d) AFTRRE WRRRIB™  (d) Y& BifelegTdl Bl
B B aTell

(a)a—3,b-1,c-2,d-4
(b) a-3, b-1, ¢4, d-2
(c)a-1, b-3,c—4,d-2
(d)a-3, b—4, c-1,d-2

- Y
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SECTION - I
Straight Objective Type
This section contains 20 multiple choice
guestions. Each question has choices (a),
(b), (c) and (d), out of which ONLY ONE is

correct.

161.Assertion :

The following questions consist of two
statements one labelled ASSERTION (a)
and the another labelled REASON (R).
Select the correct answers to these
guestions from the codes given below :
(a) Both A and R are true and R is the
correct explanation of A.

(b) Both A and R are true but R is not
correct explanation of A

(c)Ais true but Ris false

(d) Aand R are false

Ubiquinone is one of/the
important carrier of respiratory ETS.
Reason : Ubiquinone helps in oxidation of

both NADH + H* and FADH,.
@) (b) (© (d)

162. Assertion : Cytochrome-C is the mobile

carrier.

Reason : Cytochrome-C helps in transfer of

electrons between.complex IV and complex V.

@) (b) (© (d)

gus- ||
@ g THR
9 @ve # 20 9g-Rdedl ued 2| uAd U
& 4 fawe (a), (b), (c) 7o (d) &, R & R
TP W T

161.

162.

=yl A A U § < g R, B B
(A) den @ sRU (R) R A W [
P AR W & I P GgAIA |

(@) A g R ST & B RIT RA &1 &l TR0l
2l

(b) A-a R il & € fdg R, A &1 @&
By g g
(c) A & & fbg R s %I

(d) A 9 R aHi 3N B

B : YA a9 ETS &1 b Heaqui
qED o |

PIRY : Jeagd NADH + H* @ FADH, &I
@ SiffIHRT § 7eg FRT T |

@) (b) © (d)

HUA : WESIHA-C T AED B |

PRI : ARCIDHHA-C AMS—IV (B eraa—IV)
g M-V (GFRI—V) & A& Solag | aRag
H WeE Pl ¢ |

(@) (b) (© (d)
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163. Assertion : Tropical rain forest are rich in

species diversity than temperate forest -
Reason : Frequent glaciations was quite
common in temperate region in the part &

absent in tropical rain forest.

@) (b) © (d)

164. Assertion: In ETS of respiration, oxidation of

one carrier and reduction of another carrier is

essential.
Reason : In respiratory ETS, energy of
oxidation reduction utilised for production of

proton gradient.

@) (b) © (d)

165. Assertion : Mercury, cadmium, copper, lead

etc. are regarded as heavy metals.

Reason : These elements have density more

than 5 g/cm?
@ (b) (€) (d)

166. Assertion : A total of 10 NADH + H* and

2FADH, molecules are formed in aerobic
respiration—
Reason : NADH + H* and 2FADH, help in

formation of 34ATP molecules.

(@) (b) © (d)

167. Assertion ;' In anaerobic respiration, one of

the end products is organic compound.
Reason : There is an incomplete breakdown

of respiratory substrate.

(@) (b) © (d)

163. %24 : FHNdIwl g9 & IO SW[hieaed

ayl g § ygR onfa fafdear g @

FIROT . gadhTd | FALfAI®™r &3 d Faq

fRAACIRRUT AHFIRYT | BIAT T 927 SWIh{cde
frr auf a9 4 srguiRerd o
(@ (b) (© (d)

164. 9 : II91 ETS H Udh d[8h BT ITRITHR]

TNl TER AEH P] YA B AP ¢ |

BRO: 3991 ETS # ARIBR0T 0T bl

SHoll, TIe aurdl &l Icud B b bIE I

=
(@ (b) (c) (d)

165. %[ : URT, HSHYH, didl, AT e B Rl

¢ AT ST 2 |
PR : 39 d@l BT TG 5 g/em® | e B B
@) (b) © (d)

166.®AF : A AT H gl 10 NADH + H*

T 2FADH,, 3ait &1 fafor grar 2 |

®Rol : NADH + H* T2 2FADH, A 34ATP
3rpell & ffor # \e® B g |

@) (b) © (d)

167.62F : JAIA a9 H Iifaq IEl 4 |9

DS Th HEHG AfS B 2|

PRUT : AT U BT SHH YUl fawgvsH
BIdl 8-

@) (b) (© (d)

- Y
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168. Assertion: Respiratory quotient depend upon 168. ®UA: TqFT UNH, T F SR ST H
the type of respiratory substrate used during

oI 10 3991 fhaegR & YR W) R dxdr

=
PR YIS TGA1 AR § C 1 O &1 Jgurd

respiration.

Reason : In each respiratory substrate C : O

ratio is different.

(@) (b) © ) STETT—SIeT E1el 8 |
(@) (b) © (d)

169. Assertion : For plant respiration there is no 169. % : UIeY g9 & forg fafdre vav oy
need of specialised respiratory organs. 2 N

Reason : Plants do not show great demands
PR : gy | fafa @ fay st

JMATTRT ST 8] P © |
(a) (b) (c) (d)

for gaseous exchange.

(@) (b) (© (d)

170.Assertion : Motor vehicles equipped with  170. %9 : I3RS uRadd Jad Hiex arg+dl #

catalytic convertors should use unleaded GRRT et BT SYANT Byl ARy |

petrol.

PR : A Yo UGl SARG URadd Bl
Reason : Lead in petrol leads to blockage of
Ja™E PR Al B

(@) (b) (© (d)

catalytic convertors.

(@) (b) © (d)

171. Assertion : Yeast such as Saccharomysces 171, %2 : AT v F Ave ORI— ARIRRM
cerevisiae are used in baking industry. 2B P N

HROT ; fHvaT & He@avey CO,PT Iearas Bl

thermal expansion. & oT® PR AT et S ®

@) (b) ©) (d) @) (b) (©) (d)

Reason : Carbon dioxide produced during

fermentation causes bread dough to rise by

172. Assertion Smake is white, odourless, Bitter, 172. %Y : ¥H T Aha, TEEH, TRAT, I9&R AT
crystalline compound 2IdT 2|

Reason :ltis extracted from the latex of poppy RO e R B WY Uya AEged @

plant papaver somniferum. deqd 9 SpYUr gRT Ut BT © |
@) (b) (© (d) @) (b) ©) (d)

-V Resonance
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173. Assertion :

174.Assertion :

Ball and socket joints are the
most mobile joints.

Reason : Synovial fluid is present here.

(@) (b) (© (d)

Electorcardiogram is record of
eletrical activity of the heart which shows

certain waves called P,Q,R,S and T waves .

Reason : It gives important information
concerning the spread of excitation to the
different parts of heart and it is of value in the
diagnosis of cases of abnormal cardiac rhythm

and myocardial damage.

(@) (b) (© (d)

175. Assertion : Escherichia coli, Shigella sp. and

salmonella sp. are all responsible for diarrhoeal
diseases
Reason : Dehydration is common to all
types of diarrhoeal diseases and adequate
supply of fluids and electrolytes should be

ensured.

@) (b) (© (d)

176.Assertion : Saline water IS not given to

patients of hypertension.

Reason : Saline water.can cause vomiting
and may drop blood pressure suddenly

causing cardiac arrest.

@) (b) (© (d)

173. %2 : 4T 3R dAidve AT Tad SI1GT TADhRI

KICERGIR
BRU : SAY ATgAIATT dRel SURed il 2 |
(@ (b) © (d)

174. %9 : ggd $I fagqd IfafdlRRi o1 amer

U SolagIBISIIT BEA & forad P,
Q, R, SR T T yaf¥id it € |

SR I8 gSI D [AMNE HE H IgEUT b
B § GHEEEG FEauyYl SIMeR U
PREN © SR I gad I T PISTd I
RERIER

(@ (b) (©) (d)

175. % ; SRR BrcArs, FRroiel d2m ATeH e

ot gorTfer, SR & forg e 8kt 2
PR JH TR & SIRAT BT A A&T0T
feergsem (Rofeliaro) 8 39 a1 & forg
AR &9 TAT Soldgiascd od &l STas]
Bl B |

@) (b) (©) (d)

176. % : Ied YaIard & A DI THD e U

Tl foar Sirar 2

BRYT ; FHGE U A S Sodl 8 Adhdl ©
IR =H TE TS O I D BIeID whlde
gl godl 2|

(@) (b) (© (d)

- Y
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177.Assertion : Cattle breeds can be improved

by superovulaton and embryo transplantaion.
Reason : Superovulation in high milk-yielding

cows is induced by hormonal injection.

(@) (b) © (d)

178. Assertion : Bile is essential for the digestion

of lipids.
Reason : Bile juice contains enzymes bilirubin

and biliverdin.

@) (b) (© (d)

179. Assertion : The main part of carbohydrate

digestion takes place in small intestine.
Reason : Here pancreatic amylase converts

carbohydrates into lactose.

(@) (b) © (d)

180. Assertion : A group of animals related by

decent and similar in most characters like
general appearance, features, size,
configuration ,etc, are said to belong to‘a
breed

Reason : Continued inbreeding reduces
fertility and even productivity, this is called

inbreeding depression

@) (b) () (d)

177.%UF : TSI TAT YT GIRAV] qH1h

@ TAN AIRMT B el BT GIRT S FHALE |
BRI 37D Y IUGH B alell TR 7 S B
SOIRA ERT emen & IR faan S 2
@) (b) © (d)

178. Y4 : U 991 & U= & folu amavys 2 |

arRo : O 9 § fAfeefes g [feafss

T~I8H 81 © |
(@ (b) (c) (d)

179. %Y1 : FEBIESC U BT I |1 BITT 3d

H T Bl 2

PBRY_: F8f IFARN THISAS BIEEISSe Bl
el § 98 <l B |

(a) (b) (©) (d)

180. & : UYRN & I8 FHE Sl 99 TAT W

0N S A fARATae, NP, MHR, HHT
affe 3§ T B, TP Tl & AN © |

PR : TR AU A , XATHIAD o

el 3R ISl dPb B Ieure ue ofrdl & | o

3d: UoT= 3rggTe PhEd @ |

(@) (b) (© (d)
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PART -D

PART -D

GENERAL KNOWLEGDE

Straight Objective Type
This section contains 20 multiple choice
guestions. Each question has choices (a),
(b), (c) and (d), out of which ONLY ONE is

correct.

GENERAL KNOWLEGDE

Mg T TaR
9 @us ¥ 20 9g—Ibedl ued B | U U
@ 4 fadwed (a), (b), (c) e (d) B, T+ o e
TP e ¢ |

181 Two important rivers one with its source in

Jharkhand (and known by a different name in
Odisha), and another, with its source in
Odisha-merge at a place only a short distance
from the coast of Bay of Bengal before flowing
into the sea. This is an important site of wildlife
and biodiversity and a protected area. Which
one the following could be this ?

(a) Bhitarkanika

(b) Chandipur-on-sea

(c) Gopalpur-on-sea

(d) Simlipal

182. A"closed economy" is an economy in which

(a) the money supply is fully controlied
(b) deficit financing takes place
(c) only exports take place

(d) neither exports nor imports take place

183. Among the following who are eligible to benefit

from the "Mahatma/Gandhi National Rural

Employment Guarantee Act" ?

(a) Adult members of only the scheduled caste
and sheduled tribe households

(b) Adult members of below poverty line (BPL)
households

(c) Adult members of households of all
backward communities

(d) Adult members of any household

181 31 #equl ARA-RH J T 31 WA IRES

182.

183.

H g (3R W1 ISIAT H §EX AF A ST ST ©)
qer gE) oIt i S W 2—99g H ydre
P A Yd UH T RIE W AW A B Sl
T B WG] ¥ HFO & R 2| g aIoiaT
qA SiEfAfIE o1 U@ weret 8 3R gRIerd e
2 | F=faRead # 98 W 3941 § °?

(a) =B ST

(b) ATTR—ait—

(c) TTATeTgR—3i—H1

(d) RyseiaTe

g SRIIIRT" I8 IIIIRRA ® T

() g1 qft qofc: fFraf e 2

(b) TTe & fad =axen B B

(c) aa fafa gar @

(d) 7 @ frafa, 7 & mard g
f=ferRaa # &1 = weren Al I T

BT I B ?

(a) dadt TFfIA A IR FFFIT ST
IRART & TIRD Fa
(b) TR Y@ | A & (BPL) uRaRi & 9a%h

T

(c) B! TUes FHaRl & URARI & TIH ASH
(d) fFt W aRIR & TP TS
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184. Consider the following:

1. Rightto education.

2. Right to equal access to public service.

3. Rightto food.

Which of the above is/are Human Right/
Human Right under "Universal Declaration of
Human Rights" ?
(a) 1L only (b) 1 and 2 only

(c) 3 only (d)1,2and3

185.La Nina is suspended to have caused recent

floods in Australia. How is La Nina different
from EI'Nino ?

1. La Nina is characterised by unusually cold
ocean temperature in equatorial Indian Ocean
whereas EINino is characterised by
unusually warm ocean temperature in the
equatorial Pacific Ocean.

2. El Nino has adverse effect on south-west
monsoon of India, but La Nina has no effect
on monsoon climate.

Which of the statements given above is/are
correct ?

(a) 1 only (b) 2 only

(c)Both1and 2 (d) Neither1 nor 2

184.

185.

fr=foRed R AR #v
1. frem &1 INferR

2. GHFAT & IS Aroih Wdl U BRe Bl
IBR

3. Ao BT IFfTBR

AMg ATHRI B TS IGEN: & 37

SWY® H W D/ DA—H ATHR AT
AABR,/AGBHRI H AR /3T & ?

(@) dad 1
(c) It 3

(b) Baat 1 3R 2
(d) 1,23k 3

I8 AcE & fdb Amgferm # g # ol 416
TA—AA" b e B ?

1. == fyaca fée 98rR 4 998 &
IARIRYT ®Y F S d9HE | aRf¥d g g,
STafes TA—HT fAyadia gena #eMER § g%
@ JAWHRY WA A T AIAE 9IRS B
g |

2. YA—H1 &1 ¥Rd &1 Sero—uf¥esd dgd
R UG g9E Usdl ©, fbw] o—AMT @

AR STty UR DI g91d el g |
STIH H F BE—AT/ D HIT T B/ ?
(a) ®baa 1 (b) ®aa 2

(c)13R 2QHI (d)F AT 1R 9 & 2

- Y
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186. With reference to the peroid of Indian freedom

struggle, which of the following was/were
recommended by the Nehru report ?

1. Complete Independent for India.

2. Joint electorates for reservation of seats for
minorities

3. Provision of fundamental rights for the
people of India in the Constitution.

Select the correct answer using the codes
given below :
(@) 1 only (b) 2 and 3 only
(c)1and3only (d)1,2and3

187.Regarding the International Monetary Fund,

which one of the following statements is
correct ?

(a) It can grant loans to any country

(b) It can grant loans to only developed
countries

(c) It grants loans to only member countries
(d) It can grant loans to the central bank of a

country

188. Which amendment of constitution, the voting

age reduced from 21 to 18 years in India.

186. YR Wd=dT 3Mcleld & Bl & ded H 8%

187.

188.

Ruré 7 f=faiRaa 7 4 foa a1/ fa—fea &
3TeNT @ T ot ?

1. Ra & fog gui wd=an

2. IR DI TG ARET WFI & AT FIh
Fater—e=

3. g™ H ARG & foy Hifer® A&HRI 61
PIECIE]

oo el & SR R el SR My ¢
(a) daa 1 (b) daet 2 3R 3

() ®ad 1 iR 8.(d) 1,2 3R 3

ARSI el DY & ey H fr=feiad 3 4
DTl BT FE 8 7

(@) T8 fel 1 <21 BT K0T UGH B Fahl B
(b) T ®ad ARG I BT F0T YSH HRAT ©
(c) I8 Had ASH I P KU USH HRal ®
(d) T8 Tl T & DU 9% BT 0T Y IR

JHdl

YR H DI g Aees § Ada™ B Ay
21 99 ¥ "<rhR 18 ay R & M ?
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(a) 72™ (b)42" (c) (a) 72 (b) 427
25 (d) 61 (c) 25" (d) 61¢

189. International conference 0) on  189.dRW(dIcIvS) H FawaR 2013 H Sfefary R
climate change held in Varsa(Poland) at Nov. W RIS e (i) g3 | TEl
2013. Here (i) represents (i) 2y afar @
(a) COP ;18 (b) COP-19 (a) COP-18 (b) COP - 19
(c) COP-17 (d) COP - 16 (c) COP-17 (d) COP - 16
Resonance



190. “Destination Mars : Secrets of the Red Planet”

191.

192.

193.

is book of

(@) S. K. Das (b) Journel V. K. Singh( ¢ )
C. N. Rao (d) K. Kasturirangan

Which of the following is considered as
international day for removal of violence
against womens under United Nations.

(b) 16 Oct

(d) 25 November

(a) 8 march
(c) 31 May

Biodiversity forms the basis of human
existence in the following ways :

1. Soil formation

2. Prevention of soil erosion

3. Recycling of waste

4. Polilination of crops

Select the correct answer using the codes
given below.

(a) 1, 2 and 3 only

(b) 2, 3and 4 only

(c)1and 4 only

(d)1,2,3and 4

Among the following States, which one has
the most suitable climatic conditions for the
cultivation of a large variety of orchids with
minimum cost of production, and can develop
an export oriented industry in this field ?

(a) Andhra Pradesh

(b) Arunachal Pradesh

(c) Madhya Pradesh

(d) Uttar Pradesh

190."SReeq AN ¢ Rided i g ¥ wine”

frae gwis o—
(@) T8 & TN (b) IR A &. Rig
()¥. TA. @ (d) . FERRIA

191. Y I & a1 F Fopar Afgensii

o fowg £ @ 99 =7 & forv ity
fga & wu # 9= foar W e

(a) 8 AT
(c) 3178

(b) 16 ST

(d) 25 Fa=R

192. Shra—fafagen f=fafRaa aregw/Ameq9] grRT

AG 31T 1 AER 1 g3 o

1. Agr Ty

2. HE] AURGH DI AHAH

3. ufIre &1 g AB

4, I GRTT

fFfeTRad @l & UR W) |8l SR gAY
(@) ®Haa 1, 23R 3

(b) daat 2, 33K 4

(c) daat 13X 4

(d) 1, 2,33 4

193. fAforRad rai # A fbd 157 U Hatugh

Sorarg—favas Rafodl Suae & R g7
arTd ¥ enfere @ fafdy feE @ Wl @
JHN B, AR T8 39 &7 A Fafd—s=g sem
famfia & daar g ?

(a) 3ner y<w

(OERIEEREEN

(c) A= U™

(d) STR U<
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194. Which one of the following countries makes
maximum use of the geothermal energy ?
(a) New Zealand (b) Japan
(c) Iceland (d) Russia
195.How many members of Rajya sabha are
retired after every two years.
(a)1/2 (b) 1/3

(c)1/4 (d) 1/10

196. The first women bank(Indian women bank

limited) in the public sector in India has started

in.
(a) Banglore (b) Kolkata
(c) Mumbai (d) Hyderabad

197. Consider the following :
1. Carbon dioxide
2. Oxides of Nitrogen
3. Oxides of Sulphur
Which of the above is/are the emission/
emissions from coal combustion at thermal
power plants ?
(a) 1 only (b) 2 and 3 only
(c)1and3only (d)1,2and3

198. The authorization for the withdrawal of funds
from the Consolidated Fund of India must
come from
(a) The President of India
(b) The Parliament of India
(c) The Prime Minister of India

(d) The Union Finance Minister

194. fFr=Ifafad <= § | ®F A TS Jardg I

BT BT SUIRT HIAT B

(a) geicis (b) Sirar
OEIESES] (d) I

195.9% & a4 q¢ IS 9H1. B fhad A
JaT+ed 8 W © -
(a) 1/2 (b) 1/3
(c) 1/4 (d) 1/10

196.Rd H AEGIG & H UoH Afeen 96 (S
g do fafics) @el R o fhar a8 ?
(a) SR
(c) T

(b) Bt

(d) BERTETE

197. TR R faarR wifvi -

1. BIEA SIS

2. AISSIo & JATRITSS

3. GeHR B IAFASS

Iuh H W BHEA-—A/ B IAST S

<Ifth FIF1 | P S84 W Icdfoid el g/81d

g7

(@) 1 ®ad (b) daet 2 3R 3

(c) ®Had 13X 3 (d) daet 1, 23R 3
198.9Rd ! Afaa [ @ [ Feem & fou

e # @ faaer srgHes «iffard 2 2

() ¥RT @ g

(b) ¥RT & FEE

(c) ARA & UETIHA

(d) wer foa ==h
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199. Under the Constitution of India, which one of

the following is not a fundamental duty ?

(a) To vote in public elections

(b) To develop the scientific temper

(c) To safeguard public property

(d) To abide by the Constitution and respect

its ideals

200. What was the reason for Mahatma Gandhi to

organize a satygraha on behalf of the peasants
of Kheda ?

1. The Administration did not suspend the land
revenue collection in spite of a drought.

2. The Administration proposed to introduce
Permanent Settlement in Gujarat.

Which of the statements given above is/are
correct ?

(a) 1 only
(c)Both1and 2

(b) 2 only
(d) Neither 1 nor 2

199. MR [e™ & g fA=felRad # 9 dr=—r

I &g TEl g ?

(a) b TEi H HAGT PR

(b) I vafa el s
(c) TSI~ HURT B GRET BHRAL

(d) dfdg= & ufa fAsmEs 8 RS9

TSR DhT HHTT D

200. Wl & fham & uel § #Agre e & IInIE

efed &R bl L. BROT A7 ?

1. IHTA USH & GG YA T YIS
B IEr AT TE DY el |

2. UM @1 I8 U1d off b JorRma § s
FRIGE ] B &= S |

STYH H A ST/ HAT FE B/8 ?
(@) Haa 1 (b) ®aa 2

(C)13R 23F ()T a1k 78 2
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N Resonance AlIMS

Educating for better tomorrow MOCK TEST PAPER
IZB\ nswers .

PART-A
1. (c) 2. (b) 3. (d) 4. (c) 5. (@)
6. (b) 7. (c) 8. (b) 9. (©) 10. (b)
11. (c) 12. () 13. (d) 14. (©) 15. (c)
16. (a) 17. (c) 18. (b) 19. (b) 20. (@)
21. (c) 22. (d) 23. (d) 24, (b) 25. (@
26. (b) 27. (b) 28. (c) 29. (b) 30. (b)
31. (c) 32. (b) 33. (c) 34. (d) 35. (b)
36. (@) 37. (b) 38. (c) 39. (¢ 40. (b)
41. (c) 42, (c) 43. (b) 44, (b) 45. (c)
46. (c) 47, (d) 48. (d) 49. €)) 50. @
51. (a) 52. (d) 53. (d) 54, (d) 55. (b)
56. (d) 57. (d) 58. (c) 59. (d) 60. (@)

PART-B
61. (@) 62. (©) 63. (©) 64. (b) 65. (b)
66. (b) 67. (b) 68. (d) 69. (d) 70. (b)
71. (d) 72. (b) 73. (c) 74. (@) 75. (b)
76. (a) 77. () 78. (d) 79. (b) 80. (c)
81. (d) 82. (d) 83: (b) 84. (c) 85. (b)
86. ) 87. (b) 88. (d) 89. (b) 80. €))
91. (a) 92. (b) 93. (b) 94. (c) 95. (d)
96. (d) 97. (d) 98. (c) 99. (@) 100. (d)
101. (a) 102.  (b) 103. () 104.  (d) 105.  (b)
106. (d) 107. (d) 108. (d) 109. (b) 100. (a)
11.  (c) 112.  (c) 113.  (¢) 114. (a) 115. (a)
116. (c) 117.  (b) 118. (a) 119. (a) 120. (b)

PART-C

121.  (d)  122. (c) 123: (b)  124. (b)  125. (b)  126. (c) 127.  (d)
128. (b)  129. (c) 130. (d)  131. (c) 132. (d) 133. (b) 134 (a)
135. (a)  136. _(c) 137. (a) 138. (b)  139. (d)  140. (c) 141.  (d)
142. (@)  148.° (d). 144. (d) 145. (b)  146. (a) 147. (@)  148. (b)
149. ()  150. (@  151. (d)  152. (b)  153. (@)  154. (d)  155. (c)
156. (a)  157. ~(b)  158. (d)  159. (a)  160. (a) 161. (a)  162. (c)
163. (a) 164, (a)  165. (a)  166. (c) 167. (a) 168. (a)  169. (a)
170.  (c) 171. (@)  172. (o) 173. (b)  174. (@) 175. (b)  176. (c)
177.  (b). 178. (d)  179. () 180.  (b)
PART-D
181 (@  182. (d)  183. (d)  184. (d) 185 (d)  186. (b)  187. (c)

188. (d)  189. (b)  190. (a)  191. (d)  192. (d)  193. (b)  194. (c)
195. (b)  196. (c) 197. (d)  198. (b)  199. (a)  200. (a)
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